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Question Number : 1 Question Id : 71087010499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which school of thought laid down one of the principles of teacher and learner role as follows,

"The teacher's role is not to direct, but to advise because the child's own interest should
determine what he learns”

1. Perennialism

2. Progressionism

3. Essentialism

4. Reconstructionism
Options :
71087041881. 1
71087041882. 2
71087041883. 3
71087041884. 4

Question Number : 1 Question Id : 71087010499 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fR1&id Td HfRHEGl & YfHDT & 9R) H by [daR g8ies A sfeifaiad Reia &1 wiaues
T -

“fR1aid B YT FEID &1 7 5ib WRHRIGRN Bidl &, Id: HERHE! SIad &l ©id i 98
FeiRd &1 g fop 39 digr g1 -

1. FAMHddlq

2. WTfddig

3. gRUleddG
4. GREAEG

Options :

71087041881. 1
71087041882. 2
71087041883. 3
71087041884. 4

Question Number : 2 Question Id : 71087010500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the list given below, identify those features which relate to an approach to teaching and
learning in indirect strategies of teaching

A. Engagement in an inquiring process

B. Concept-based content presentation

C. Gaining attention and informing the learners of the instructional objective

D. Presenting the stimulus material and stimulating recall of prerequisite learning
E. Encouraging students to use references from their own experiences

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, B andE only
4.C, D and E only
Options :
71087041885. 1
71087041886. 2
71087041887. 3
71087041888. 4

Question Number : 2 Question Id : 71087010500 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
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Options :
71087041885. 1
71087041886. 2
71087041887. 3
71087041888. 4

Question Number : 3 Question Id : 71087010501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



For use during teaching, from the list given below, identify questions that are ‘process
type’ rather than ‘content-type’

A. Divergent questions

B. Fact-based questions

C. Concept-based questions

D. Lower order questions

E. Higher-order questions

Choose the correct answer from the options given below:

1.A,Cand E only
2. B, Cand D only
3.C, D and E only
4. B, D and E only
Options :
71087041889. 1
71087041890. 2
71087041891. 3
71087041892. 4

Question Number : 3 Question Id : 71087010501 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. B A, C 3R E
2. Pad B, C 3R D
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4, H9dB, D 3ARE
Options :
71087041889. 1
71087041890. 2
71087041891, 3
71087041892. 4

Question Number : 4 Question Id : 71087010502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: Reliability is a necessary but insufficient condition for validity

Statement II: In respect of evaluation tools, validity is not an all or none concept but it exists
as a continuum

In light of the above statements,choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

71087041893. 1

71087041894. 2

71087041895. 3

71087041896. 4

Question Number : 4 Question Id : 71087010502 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041893. 1
71087041894. 2
71087041895. 3
71087041896. 4

Question Number : 5 Question Id : 71087010503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Systems of education which are place-specific, time-specific and person-specific
are said to be formal and are created by laid down law and procedures

Reason R: Open universities and open schools are the example of a formal system of
education because they are created by laid down procedures

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087041897. 1
71087041898. 2
71087041899. 3
71087041900. 4

Question Number : 5 Question Id : 71087010503 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041897. 1

71087041898. 2

71087041899. 3

71087041900. 4

Question Number : 6 Question Id : 71087010504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following metheods of acquiring knowledge save time and effort on the part of
the researcher?

1. Method of experience

2. Inductive method

3. Deductive method

4. Methed of consulting an authority
Options :

71087041901. 1

71087041902. 2



71087041903. 3
71087041904. 4

Question Number : 6 Question Id : 71087010504 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041901. 1

71087041902. 2

71087041903. 3

71087041904. 4

Question Number : 7 Question Id : 71087010505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are features of the qualitative research paradigm?

A. The research is concerned with understanding the social phenomena from the participant's
perspective

B. It seeks to establish relationships, among variables and explains the causes of changes in
measured social facts

C. It is conducted in actual settings as the direct source of data and the researcher is the key
instrument

D. It is concerned with the process rather than simply with outcomes or products
E. It attempts to establish universal context-free generalization
Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. A, Cand D only
4.C, D and E only
Options :
71087041905. 1
71087041906. 2
71087041907. 3
71087041908. 4

Question Number : 7 Question Id : 71087010505 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. @A B, C3RD
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4.HaAC, D ARE
Options :
71087041905. 1
71087041906. 2
71087041907. 3
71087041908. 4

Question Number : 8 Question Id : 71087010506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A researcher administers an achievement test to assess and indicate the possible effect of an
independent variable in his/her study. The distribution of scores on the test is found to be
negatively skewed. On the basis of this, what can be stated with regard to the difficulty level of
the test?

1. The test is very easy

2. The test is very difficult

3. The test is neither easy nor difficult

4. The test is easy and needs normalization
Options :

71087041909. 1

71087041910. 2

71087041911. 3

71087041912. 4

Question Number : 8 Question Id : 71087010506 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041909. 1

71087041910. 2

71087041911. 3

71087041912. 4



Question Number : 9 Question Id : 71087010507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A researcher has to observe codal formalities at all stages without scope and
leeway for offending moral and ethical norms

Reason R: In respect of data collection, data analysis and interpretation there is, however, a
considerable scope of being ethically vulnerable

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087041913. 1

71087041914. 2

71087041915. 3

71087041916. 4

Question Number : 9 Question Id : 71087010507 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041913, 1

71087041914, 2

71087041915. 3

71087041916, 4

Question Number : 10 Question Id : 71087010508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The scope for employing ICT support is relatively more in which of the following stages of
research?

A. Problem formulation

B. Hypothesis making

C. Data collection

D. Data analysis

E. Data interpretation

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3.Cand D only
4. D and E only
Options :
71087041917. 1
71087041918. 2
71087041919. 3
71087041920. 4

Question Number : 10 Question Id : 71087010508 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087041917 1
71087041918. 2
71087041919. 3
71087041920. 4

Sub-Section Number : 2
Sub-Section Id : 710870292
Question Shuffling Allowed : Yes

Question Id : 71087010509 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension

Read the given passage carefully and answer the questions that follow
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Transformation is characterized by certain features that clearly differentiate it from other types
of change. First, according to Beckhard, it involves substantial and discontinuous change to the
shape, structure, and nature of the organization, rather than incremental adjustments and fine-
tuning of the current situation. One example of a discontinuous change would be when a firm
changes from being production-driven to being customer-driven. Another would be a merger
of two organizations. In both instances, the shape of the organization can be expected to
change radically. An organization transforming from a preduction orientation to a customer
orientation will need to drastically decentralize and delegate authority. In a merger, entirely
new roles and working relationships will be created.

A second characteristic of transformation is that the need for change is caused by forces
external to the organization rather than forces inside the organization. A typical example
would be when an organization changes from a functional to a divisional structure in response
to market forces or industry pressures in the form of competitor actions or regulatory changes.
Currently, globalization is one of the most powerful external forces for organizational
transformation.

A third distinguishing feature of transformation is that the change is deep and pervasive,
rather than shallow and contained. The change affects all parts of the organization and
involves many levels. Decentralization, downsizing and the geographic relocation of functions
and activities exemplify changes that transform structural relationships deeply and pervasively.

Finally, transformation requires significantly different, and even entirely new, sets of actions by
the members of the organization, rather than more or less of existing behavior patterns.
Examples are changes to the norms and core values of an organization that are brought about
through acquisition, deregulation, and privatization or through a drastic strategic repositioning
such as shifting from a production-efficiency focus to a customer-service strategy.

Sub questions

Question Number : 11 Question Id : 71087010510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

According to Richard Beckhard, transformation is what kind of change in the
organisational structure?

1. Incremental
2. Discontinuous
3. Finetuning

4, One-time
Options :
71087041921. 1
71087041922. 2
71087041923.3
71087041924. 4

Question Number : 12 Question Id : 71087010511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What happens when two organisations merge?

A. Shape of the organisation will change

B. Product orientation remains the same

C. Drastic decentralisation of authority

D. Discontinuous change does not take place

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and C only



Options :

71087041925. 1
71087041926. 2
71087041927. 3
71087041928. 4

Question Number : 13 Question Id : 71087010512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The pressure of market force can result in

1. Distortion of role perceptions

2. Changing to a functional structure
3. Changing to a divisional structure
4. Deregulation of competitive factors
Options :

71087041929. 1

71087041930. 2

71087041931. 3

71087041932. 4

Question Number : 14 Question Id : 71087010513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the main levels of organizational transformation?
A. Downsizing

B. Geographical relocation

C. Contained changes

D. Power to external forces

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087041933. 1
71087041934. 2
71087041935. 3
71087041936. 4

Question Number : 15 Question Id : 71087010514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What does organizational transformation require?

1. Strengthening existing behaviours of members
2. Changes in norms and core values

3. Production-efficiency strategy

4. All pervasive structural relationships

Options :

71087041937. 1

71087041938. 2



71087041939. 3
71087041940. 4

Question Id : 71087010509 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 71087010510 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041921. 1
71087041922. 2
71087041923. 3
71087041924. 4

Question Number : 12 Question Id : 71087010511 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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71087041925. 1
71087041926. 2
71087041927. 3
71087041928. 4

Question Number : 13 Question Id : 71087010512 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087041929. 1

71087041930. 2

71087041931. 3

71087041932, 4

Question Number : 14 Question Id : 71087010513 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087041933 1
71087041934. 2
71087041935, 3
71087041936. 4

Question Number : 15 Question Id : 71087010514 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
WEIHD T & o0 71 SHURE § 2

1. U&Hl & Udfed 0deR &1 Yoo ol
2. AHI Ud Hdbigd Jcdl § 9gad

3. 3G BT DI WHIT

4. FH TREAHED AT TaY
Options :

71087041937. 1




71087041938. 2
71087041939. 3
71087041940. 4

Sub-Section Number : 3
Sub-Section Id : 710870293
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087010515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The domain of media appeal addresses the issues related to

1. Knowledge
2. Learning

3. Legality

4. Emotions
Options :
71087041941. 1
71087041942. 2
71087041943. 3
71087041944. 4

Question Number : 16 Question Id : 71087010515 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

i arficr @1 oraT g T O G £ 7

Options :



71087041941. 1
71087041942. 2
71087041943. 3
71087041944. 4

Question Number : 17 Question Id : 71087010516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following will make a student a good listener in the classroom?
A. Ability to deflect attention

B. Concentration

C. Desire to understand

D. Emotional outbursts

E. Humility to know

F. Ignoring the other side

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.D, Eand F only
4. B, Cand Eonly
Options :
71087041945. 1
71087041946. 2
71087041947. 3
71087041948. 4



Question Number : 17 Question Id : 71087010516 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

DT uRaw # Fgifed 7 € D19 91 yaf faenf &1 Ud =1 411 §H1e
A. I Taditd g &1 &l

B. AHBZUI

C. Aqaly B gl

D. HaTH® fdepie

E. 9 Haelt fasd

F. GO U&l @] JU&T &l

el f[dded &l 994 B ;

1. #dd A, B AR C
2. hdd B, C3RD
3. $Had D, E3RF
4, &dd B, CARE
Options :
71087041945, 1
71087041946, 2
71087041947, 3
71087041948, 4

Question Number : 18 Question Id : 71087010517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Pedagogy and social interaction are two major areas of activity of teachers
Reason R: It is communication that is crucial for making both the activities important

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087041949. 1

71087041950. 2

71087041951. 3

71087041952. 4

Question Number : 18 Question Id : 71087010517 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR FY RU T E . UF B 3fUHUT (a) 3R T B db (R) Hel T e :

YA (A) : TRI&® & & UHE D1 38 © - & AR DI TSR aul YIS il
R) : 31 GIHI &1 @I Hew@qul 81 eq YN 3dd Hew@qy &l

IRE BYHl & el H Fdifdd el # 3 Faifte 3uged 3w g :

1. (A) 3R (R) GHT TEI € 3IR (R), (A) B! Hel RS 8

2. (A) 3R (R) THT Hal § 3R (R), (A) BT HE! SIRSAT 75l &
3. (A) U8 § U= (R) TTeid g

4. (A) T 8 I (R) TR1 &1



Options :

71087041949. 1
71087041950. 2
71087041951. 3
71087041952. 4

Question Number : 19 Question Id : 71087010518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List 1l

Types of listeners Characteristics

A. Poor listeners . Scare others

B. Aggressive listeners . Easily agree with the speaker

. Passive listeners I1l. Listen to ideas, but no emotions behind
D. Pseudo-intellectual IV. Fidget repeatedly

Choose the correct answer from the options given below:

TA-LB-1I,C-1,D-1IV
ZA-1,B-NIL,C-1V,D-I
3A-ILB-IV,C-1,D-1I
4 A-IV,B-1LC-II,D-1
Options :

71087041953. 1
71087041954. 2
71087041955. 3
71087041956. 4

Question Number : 19 Question Id : 71087010518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Teil-1 B Gai-1l & 9y Gaferd DI -
| -1l

yiars dUPR  [fa=uay

A AP YA LRI DISAdE
B. THH® il |11 9ad1 T U GgHd ol old &

B S 11, fIaRl &1 Yau & g clid- 35 Bls 419 el
| Bidl

D?-EWW V. SR 39¢ 9HE

frafafad faseal | ¥ ¥gl Sox giHu -

TA-LB-1I,C-1IIL,D-1IV
2ZA-1IL,B-N,C-1V,D-I
3A-IILB-IV,C-1,D-1I
4 A-IV,B-LC-II,D-1I
Options :

71087041953. 1
71087041954. 2
71087041955. 3
71087041956. 4

Question Number : 20 Question Id : 71087010519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the following educational communication ventures

in India

A. Krishi Darshan

B. Gyan Darshan

C. Vyas

D. Gyan Vani

Choose the correct answer from the options given below

1. A BCD
2B CDA
3.D,A B C

4. A, D, B, C
Options :
71087041957. 1
71087041958. 2
71087041959. 3
71087041960. 4

Question Number : 20 Question Id : 71087010519 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HRd H Aferd T8N0 IumHl & GaH H HEifed & ¥ 98! dIa-uR $4 95U :
A. I8 G
B. M &=

C.aM
D. 4§t
d feu T1u fadedl ¥ 981 IR 9T

1. A BCD
2B CDA
3.D,A B C

4. A, D, B, C
Options :
71087041957. 1
71087041958. 2
71087041959. 3
71087041960. 4

Question Number : 21 Question Id : 71087010520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The difference of the square of two consecutive even numbers is 84. What is the sum of these
two consecutive even numbers?

1. 34
2. 38
3. 36
4.42
Options :



71087041961. 1
71087041962. 2
71087041963. 3
71087041964. 4

Question Number : 21 Question Id : 71087010520 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

& HH® 90 =13 & g7 &1 3 84 €1 T &H| H1a® U TEa1s{ S aFT a1 g ?

1. 34

2. 38

3. 36

4.42

Options :
71087041961. 1
71087041962. 2
71087041963. 3
71087041964. 4

Question Number : 22 Question Id : 71087010521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the next term in the series
0,8, 24,48, __

1.72

2. 96

3.120

4. 80

Options :
71087041965. 1



71087041966. 2
71087041967. 3
71087041968. 4

Question Number : 22 Question Id : 71087010521 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FafaRad sie g d eFTd 3i® ®I Ugd BT
0,8, 24,48, ___

1.72

2. 96

3.120

4. 80

Options :
71087041965. 1
71087041966. 2
71087041967. 3
71087041968. 4

Question Number : 23 Question Id : 71087010522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Mr X is 40 years old and Mr Y is 60 years old. How many years ago was the ratio of their ages
3:57

1. 15 years
2. 10 years
3. 20 years
4, 30 years
Options :



71087041969. 1
71087041970. 2
71087041971. 3
71087041972. 4

Question Number : 23 Question Id : 71087010522 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fERE X 1 3 40 T4 & 3R fiRex v @1 3 60 Y 1 [5d- a8 Ugd 39 &1 DI 31 B 391 3
5 YI?

1.15 34
2.10 34
3.20 94
4,30 94
Options :
71087041969. 1
71087041970 2
71087041971. 3
71087041972. 4

Question Number : 24 Question Id : 71087010523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a river from a fixed location, two identical boats start moving up-stream and down-stream,
respectively. The speed of the water current in the river is 3km/hour. If the speed of each of
the boats in still water is 15km/hour, the separation between the boats after 12 minutes will be

1. 3.6 km
2. 5.6 km
3. 6.0 km
4. 7.2 km



Options :

71087041973. 1
71087041974. 2
71087041975. 3
71087041976. 4

Question Number : 24 Question Id : 71087010523 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl 1E1 # U i3 =M 9 & o $HRE 98 & URT & fausid SR 781 B 4R B 3R TH
Bl ¢ | AR @1 71d 3 [l /der g1 afe 39 aFf Aiarsil § U ud® e & g R Sa
15 fob A/ ©e1 8 dl 12 BT & ugiq aiFf Arored & s o gl gril -

1. 3.6 T AT,

2. 5.6 T Hl.

3. 6.0 T Al
4, 7.2 fo .
Options :
71087041973, 1
71087041974, 2
71087041975. 3
71087041976. 4

Question Number : 25 Question Id : 71087010524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Consider the following letter series and identify the next term
ace, thj, kmo,

1. npr

2. rtv

3. prt

4. uwy
Options :
71087041977. 1
71087041978. 2
71087041979. 3
71087041980. 4

Question Number : 25 Question Id : 71087010524 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafdiiad auf - A W IR BT 3R 3T Ug $i UgaH Hield ;
ace, thj, kmo, ____

1. npr

2. rtv

3. prt

4, uwy
Options :
71087041977. 1
71087041978. 2
71087041979. 3
71087041980. 4

Question Number : 26 Question Id : 71087010525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Match List | with List 1l

List | List 11
Theories Philosophers
A. Episteme and Doxa . Aristotle

B. Potential and Actual being Il. Hegel

C. Vyavaharika and Parmarthik lIl. Sankara

D. Rational and Actual IV. Plato

Choose the correct answer from the options given below:

TA-LB-1I,C-1IIL,D-1IV
2ZA-1IL,B-N,C-1V,D-I
3A-ILB-IV,C-1I,D-1
4 A-IV,B-LC-lILD-1
Options :

71087041981. 1
71087041982. 2
71087041983. 3
71087041984. 4

Question Number : 26 Question Id : 71087010525 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| -1l

Fgid MHEIEED
A. IO qur Ste . 3R]
5. ¥Ud Ud IRad® wiig RIS
C. A9l Ud URArda 11 =T
D. difdhds Ud aRdidd V. el
e fou e fadedl O Uel fddey U :

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-1I,D-1
4A-IVB-I,C-1,D-1
Options :
71087041981. 1
71087041982. 2
71087041983. 3
71087041984. 4

Question Number : 27 Question Id : 71087010526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What type of cognition is beyond the ambit of perception?

1. Anumiti

2. Upamiti

3. Nirvikalpaka pratyaksha
4. Savikarpaka pratyaksha
Options :

71087041985. 1



71087041986. 2
71087041987. 3
71087041988. 4

Question Number : 27 Question Id : 71087010526 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U0 & Gk § W gifed 3 9 S19-91 ATHHH A e 2
“gfeiad o U uel [dse ﬂﬁfl :

1. A

2. JufAfd

3. Ffd®s g uas
4, Gidpcad T
Options :
71087041985. 1
71087041986. 2
71087041987. 3
71087041988 4

Question Number : 28 Question Id : 71087010527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Golden mountain is fiery because it is smoky'
Which type of fallacy is committed by the above inference?

1. Asraya siddhi

2. Svarapa siddhi

3. Vyapyatva siddhi
4. Savyabhichara



Options :

71087041989. 1
71087041990. 2
71087041991. 3
71087041992. 4

Question Number : 28 Question Id : 71087010527 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e Udd Y g Fifds 98 YHdH & 39 3-aH § hH-91 galHE § ?

1. YT
2. awy fafg
3. AIAG
4. GANER
Options :
71087041989. 1
71087041990. 2
71087041991. 3
71087041992. 4

Question Number : 29 Question Id : 71087010528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In a proposition which is particular affirmative,

1. Subject term is distributed but the predicate is not distributed
2. Neither the subject nor the predicate is distributed

3. Both subject and predicate are distributed

4. Subject is undistributed but predicate is distributed

Options :

71087041993. 1



71087041994. 2
71087041995. 3
71087041996. 4

Question Number : 29 Question Id : 71087010528 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ferd aebaray fored fasiy RduEaa el €, 98 & -

1. IR0 UT fgaRd Bid1 § IR 48 faaRa i gl &1
2. 35X IR {99 § 15 1 fadia 981 giar 2|

3. 3529 3R gy gl faaRa sid B

4. 357 f3dRd 781 B1d1 & W] 399 fadid gl g1
Options :

71087041993. 1

71087041994. 2

71087041995. 3

71087041996. 4

Question Number : 30 Question Id : 71087010529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
Concepts Schools

4. Abhava . Jainism

B. Anupalabdhi Il. Buddhism
C. Apoha lIl. Vedanta
D. Syadavada IV. Nyaya

Choose the correct answer from the options given below:

TA-ILBE-N,C-1,D-1V
2ZA-ILB-IV,C-1I,D-1
SA-IVB-IL,C-I1L,D-1
4 A-LB-ILC-1V,D-1l
Options :

71087041997. 1
71087041998. 2
71087041999. 3
71087042000. 4

Question Number : 30 Question Id : 71087010529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 I Tali-11 & 9y GAferd Hiford -

gal-| -1l
SGYRUM quary
A, YT G
B. 3Udied . ¥l
C. U8 I, deid
D. Wedig V. T
e fau e fasedl ©f @ U8l IR gHU:

TA-ILE-N,C-1,D-1V
ZA-ILB-IV,C-II,D-1
SA-IV,B-ULC-ILD-1
4 A-1L,B-ILC-1V,D-1l

Options :

71087041997. 1
71087041998. 2
71087041999. 3
71087042000. 4

Sub-Section Number : 4
Sub-Section Id : 710870294
Question Shuffling Allowed : Yes

Question Id : 71087010530 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



Study the data table and answer the questions that follow

The following table shows the maximum marks of each subject inside the bracket and
percentage of marks obtained by seven students in six different subjects in the exam

Computer
Student/Subject science |Chemistry Physics/Geography HistoryMath
(150) (130) (120) (100) (50) | (40)
Piyush 90 50 90 60 70 80
Gaurav 100 80 80 40 80 70
Mayank 90 60 70 70 90 70
Vimal 80 65 80 80 60 60
Vikas 80 65 85 95 50 90
Varun 70 75 65 85 40 60
Ashish 65 35 50 77 80 80

Sub questions

Question Number : 31 Question Id : 71087010531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What are the average percentage of marks (%) obtained by all the seven students in Physics?

1. ~82.42
2. ~74.28
3. ~86.24
4. ~95.14



Options :

71087042001. 1
71087042002. 2
71087042003. 3
71087042004. 4

Question Number : 32 Question Id : 71087010532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of students who obtained 60% and above marks in all subject is:

1. 4

2.5

3.2

4.1

Options :
71087042005. 1
71087042006. 2
71087042007. 3
71087042008. 4

Question Number : 33 Question Id : 71087010533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What are the aggregate of marks obtained by Mayank in all the six subjects?

1. 432

2. 456

3. 460

4. 440
Options :
71087042009. 1



71087042010. 2
71087042011. 3
71087042012. 4

Question Number : 34 Question Id : 71087010534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which subject is the overall percentage the best?

1. Computer Science
2. Chemistry

3. Math

4. Physics

Options :
71087042013. 1
71087042014. 2
71087042015. 3
71087042016. 4

Question Number : 35 Question Id : 71087010535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the overall percentage of Ashish?

1. 54%

2. 68%

3. 59.66%
4.63%
Options :
71087042017. 1
71087042018. 2
71087042019. 3
71087042020. 4



Question Id : 71087010530 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension

frafafEa aifve vde fug & oo oie! B Fge # o wian ¥ o Afis ot § 9w
BT gRT U 5T 7T 3T &1 ufdwd guiat & :

He fagH | TR | ifddt |y | sfaera | afrd

EIENACLE]
(150) (130) (120) | (100) | (50) | (40)
Uiy 90 50 9 | 60 | 70 | 80
g 100 80 80 | 40 | 80 | 70
Ad® 90 60 70 70 90 | 70
[CEG 80 65 80 | 80 | 60 | 60
faarg 80 65 85 95 | 50 | 90
G| 70 75 65 | 85 | 40 | 60
3Ry 65 35 50 | 77 | 80 | 80

Sub questions

Question Number : 31 Question Id : 71087010531 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



it Ora faential gro difldet & urg i 7Y 3frgd ofd () F e ¢

1. ~82.42
2. ~74.28
3. ~86.24
4. ~95.14
Options :
71087042001. 1
71087042002. 2
71087042003. 3
71087042004. 4

Question Number : 32 Question Id : 71087010532 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ol faudl 7 60% 3R 3TH A4S 3id UId H a1 Sl I =T 1§ ?

1. 4

2.5

3.2

4.1

Options :
71087042005. 1
71087042006. 2
71087042007. 3
71087042008. 4

Question Number : 33 Question Id : 71087010533 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



wid & 94! B¢ faudl & o UIdie g ?

1. 432

2. 456

3. 460

4. 440
Options :
71087042009. 1
71087042010. 2
71087042011. 3
71087042012. 4

Question Number : 34 Question Id : 71087010534 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

&g fovg § urdie! &1 999 ufaeiddr 9aiH &2

1. PR fagH
2. YHOA Td
3. TTford

4. Hifdet
Options :
71087042013. 1
71087042014. 2
71087042015. 3
71087042016. 4

Question Number : 35 Question Id : 71087010535 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



1Y &1 99y ufaed fdar g 2

1. 54 %

2. 68 %

3. 59.66 %
4.63 %
Options :
71087042017. 1
71087042018. 2
71087042019. 3
71087042020. 4

Sub-Section Number : 5
Sub-Section Id : 710870295
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087010536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation ISP?

1. International Service Provider
2. Internet Service Provider

3. Internet Software Provider

4, Internet Service Product
Options :

71087042021. 1

71087042022. 2

71087042023. 3

71087042024. 4

Question Number : 36 Question Id : 71087010536 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
"3T3 UY Ul Tiad Ug S R EU 13 2

1. 3T 9igd Uidrga
2. 3e¢e gidg Uiags

3. 32 U dmR HlaEa
4, 32 gidg Uisae
Options :

71087042021. 1
71087042022. 2
71087042023. 3
71087042024. 4

Question Number : 37 Question Id : 71087010537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the name for a web page address?

1. Directory

2. Folder

3. Domain

4. URL
Options :
71087042025. 1
71087042026. 2
71087042027. 3
71087042028. 4

Question Number : 37 Question Id : 71087010537 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



d9 N USH o U AH |18 7

1. STl

2. BieaR

3. SiEA

4. g SN Ud
Options :
71087042025. 1
71087042026. 2
71087042027. 3
71087042028. 4

Question Number : 38 Question Id : 71087010538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Privacy and security of user data is at stake on the Internet

Reason R: No steps are being taken by the user for the security and privacy of data

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087042029. 1

71087042030. 2

71087042031. 3

71087042032. 4



Question Number : 38 Question Id : 71087010538 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

RS RUTUE . 1@ &1 ey (4) IR TR B 06 (R) I T E
HTUBYT (A) : Fe3e W SIE WG @1 (ofar 3R qR&f &ld W el 8l

dd (R) : WAIET GRI SIE1 &1 QR&T 3R Fodl g Bl WO el U o I8 2|
SRE HYHI & S | FHifed el | J el Juged Itk 44

1. (A) 3R (R) G WE1 € 3MR (R), (A) BT F1 ARATE |

2. (A) 3R (R) GHT TET § 3R (R), (A) BT T ARAT TeT &
3. (A) W61 & I (R) W1 TE1 &

4. (A) TET TR € R (R) WET 2

Options :

71087042029. 1

71087042030. 2

71087042031. 3

71087042032. 4

Question Number : 39 Question Id : 71087010539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a system software?

1. Compiler

2. Operating System

3. Application Software
4. Editor

Options :

71087042033. 1



71087042034. 2
71087042035. 3
71087042036. 4

Question Number : 39 Question Id : 71087010539 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e & 9 o-ar ey giedm 98 & 2

1. PUGTR

2. AR ieq

3. Ui Hiteddy
4, g

Options :
71087042033. 1
71087042034. 2
71087042035. 3
71087042036. 4

Question Number : 40 Question Id : 71087010540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is excluded from the domain of Artificial Intelligence?

1. Computer Vision
2. Machine Learning
3. Deep Learning

4. Text

Options :
71087042037. 1
71087042038. 2
71087042039. 3



71087042040. 4

Question Number : 40 Question Id : 71087010540 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeied 3 4 oH-T1 S gl (nféihREgd fiefea) & sHT v aEi s ?

1. YR fau
2. {Ei afT
3. St

4. ¢
Options :
71087042037. 1
71087042038. 2
71087042039. 3
71087042040. 4

Question Number : 41 Question Id : 71087010541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are Millennium Development Goals?
A. Eradicating extreme poverty and hunger

B. Improving maternal health

C. Addressing climate change

D. Promoting gender equity and empowerment of women

E. Ensuring energy security for all

Choose the correct answer from the options given below:

1. A, B, Cand D only
2.A,C DandE only
3AB,CDandE

4. A, B and D only
Options :
71087042041. 1
71087042042. 2
71087042043. 3
71087042044. 4

Question Number : 41 Question Id : 71087010541 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Hedles] fary ed Fafif@d d e dE 2

A, Scdfdd FEHar iR 4@ &1 S BT

B. {1J W H YR oH

C. Sciarg giRkac- daedt FH1EH ST

D. T UM AR Afeal 9RIfdamu &I g1l oAl
£, 9T & foTe SHoil GRam gHfEd &

i U 7Y faheul # 9 U5l STk &1 99 Dol -

1. B9 A, B, C3IR D
2. PAdA, C, DIARE
3.A, B, C D3RE

4. HIdA BIARD
Options :
71087042041. 1
71087042042. 2
71087042043, 3
71087042044 4

Question Number : 42 Question Id : 71087010542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of energy sources in terms of their heat of combustion in
increasing order

A. Methane

B. Natural fats and oils

C. Dry wood

D. Green wood

Choose the correct answer from the options given below

1. A CBD
2.D,CBA
3.D,B,C A
4.D,C A B
Options :
71087042045.
71087042046.
71087042047.
71087042048.

AW O~

Question Number : 42 Question Id : 71087010542 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fofafad ol idl @ aed o1 & dad | 370 9al 3Rie! % i g dIvi ;
A, HiUT

B. UTpidd adl 3R dd

C. b DI

D. §Rd @18
fafaiad faeedl 5 9 98l I g -

1. A CBD
2.D,CBA
3.D,B,C A
4.D,C A B
Options :
71087042045.
71087042046.
71087042047.
71087042048.

AW O~

Question Number : 43 Question Id : 71087010543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Polluted rivers with very high values of Biological Oxygen Demand (BOD) may
produce a foul smell

Reason R: Anaerobic bacteria produce sulphur dioxide and oxides of nitrogen

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087042049. 1

71087042050. 2

71087042051. 3

71087042052. 4

Question Number : 43 Question Id : 71087010543 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : Ud @l i@y (a) SR GHR &I dd (R) Pl T & -
HBU (a) - Sfa® Siadior A7 @ 2 SY) B HH! 3w T ardl Ugud Jaal o g M1dl g
dd (R) : "TRIfdD daIRAT bR SRHS AR Ao b HFRISS Ual dd 6|
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) AR (R) THT FET § 3R (R), (A) BT TE ARG

2. (A) aﬁ?gﬁ)aﬁfﬁ%&ﬂ?(mr (A) BT eI SRS ol o

3. (A) W81 & U (R) W1 T8 |

4. (A) W8l Tl & U (R) T&I B

Options :

71087042049. 1

71087042050. 2

71087042051. 3
71087042052. 4

Question Number : 44 Question Id : 71087010544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



High hazard wastes may contain

A. Pathogens

B. Radioactive wastes

C. Non-reactive substances

D. Corrosive substances

Choose the correct answer from the options given below

1. A, B and D only
2.A B, CandD

3. B and D only

4. A Band Conly
Options :
71087042053. 1
71087042054. 2
71087042055. 3
71087042056. 4

Question Number : 44 Question Id : 71087010544 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



SHfee WD SHUTIPT # A 61 Ibd & -

A. QYIS

B. S afiuldea Uiy

C. sfdish g yard

D. H&fReb ugrd

i f&u U faeedl # @ Uel I &1 98- B -
1.®ad A, B AR D

2. A, B, C3HRD

3. Had B 3R D
4, HIAA, B AR C
Options :
71087042053. 1
71087042054. 2
71087042055. 3
71087042056. 4

Question Number : 45 Question Id : 71087010545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In case of which of the following primary pollutants, the man-made contributions to global
emissions (million tonnes per year) is more compared to that from natural sources?

1. Sulphur dioxide
2. Nitric oxide

3. Methane

4. Carbon dioxide
Options :



71087042057 1
71087042058. 2
71087042059. 3
71087042060. 4

Question Number : 45 Question Id : 71087010545 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafeiaa o O forg mruftie ugue & A o dfde® I (Ufd ay e eq) & ded |
Udidd Gidl @1 qa-l § 34 o (301 B IRTGH SHiU® & ?

1. TR SOHIES
2. AI3feh AHHZS
3. die

4. PET SHFES
Options :
71087042057. 1
71087042058. 2
71087042059. 3
71087042060. 4

Question Number : 46 Question Id : 71087010546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the Universities named below, correspondence courses were initiated in 19627

1. University of Madras
2. University of Bombay
3. University of Calcutta
4. University of Delhi
Options :

71087042061. 1



71087042062. 2
71087042063. 3
71087042064. 4

Question Number : 46 Question Id : 71087010546 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeiad 5 O fow fayfaererd 5 ad 1962 H THHR UTdshA| & YA S T3 Ui ?

1. 29 fayfdereg

2. 9rgs fayfdeey

3. Sodl [ayfaey
4, feeit fayfaeneg
Options :
71087042061. 1
71087042062 2
71087042063 3
71087042064. 4

Question Number : 47 Question Id : 71087010547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following areas of liberal education at the higher level in feudal society of Europe
were classified under trivium?

A. Geometry

B. Astronomy

C. Grammar

D. Logic

E. Rhetoric

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
71087042065. 1
71087042066. 2
71087042067. 3
71087042068. 4

Question Number : 47 Question Id : 71087010547 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



PRY & Y GA H I TR W IaRdw) e & FHgfaRad J 9 i1 3¢ - &5 ol efean &
3{cid aefided o 71T T -

A. ST

3. e faie

C. B

D. Teh

E. O HRIARE

i f&u U faeedl # @ Uel I &1 98- B -

1. HAAA, B 3R C
2. @A B, C3RD
3. ®aAC, D 3R E
4. HAAA, D ARE
Options :
71087042065 1
71087042066. 2
71087042067. 3
71087042068. 4

Question Number : 48 Question Id : 71087010548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following categories of colleges is primarily intended for creating work ready
manpower on a large scale?

1. Autonomous college
2. Community college
3. Agriculture college
4. Technical college
Options :

71087042069. 1
71087042070. 2
71087042071. 3
71087042072 4

Question Number : 48 Question Id : 71087010548 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FafeRad 5 9 feg 9ol & Aegriaenadl & WuiEe I539 Au® UAH | B 8q d9R SHRIG
1 A ST ECIE 2

1. WO Helfddreg
2. g™ Hglfaecy
3. P HeIidee™
GG AR HIFEIRE
Options :
71087042069. 1
71087042070. 2
71087042071. 3
71087042072. 4

Question Number : 49 Question Id : 71087010549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Synchronous communication takes place through which of the following technologies?
A. Video chat

B. Virtual classrooms

C. Audio conferencing

D.Wikis

E. Electronic mail

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
71087042073. 1
71087042074. 2
71087042075. 3
71087042076. 4

Question Number : 49 Question Id : 71087010549 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g & ¥ fog deif@t & A 9§ gasiias Siuo 9fed il s 2
A. ditsgl e

B. STHTHT BHET

C. 3HITET BB

D. fafdg

. 3Igel® Ha

fFafaiad el 5 9 98l ST g4 ;

1. Bad A, B 3R C
2. Pad B, C 3R D
3. AU C, D 3R E
4, HIAD, E AR A
Options :
71087042073. 1
71087042074. 2
71087042075. 3
71087042076 4

Question Number : 50 Question Id : 71087010550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Levels of academic freedom in higher/Concerns at their levels
education institutions

. Democratic functioning in the higher education
A. Personal level system and believing each individual worthy of
attention

ll. Standard of behaviour and ethics we adopt

B. Professional level
and develop for ourselves

o l1l. Values which influence and cushion the
C. Institutional level , . ,
operation of higher education

V. Exercising personal and professional values
D. Societal level within the concept of the higher education
institution

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-ILB-1L,C-1V,D-1I
SA-ILB-IV,C-1I,D-1
4A-LB-ILC-1ILD-1V
Options :

71087042077. 1
71087042078. 2
71087042079. 3
71087042080. 4

Question Number : 50 Question Id : 71087010550 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tdi-1 H 3= &0 Geurell § sfdreifdm wWaadl & W) ®f aul Idi-1l § 39d Yat of g2 gl
i1 DI Gall-11l & Ty GHferd Hifere :

gal-| -1l
A, Sifadd |1 3= F21e Uuliell § diedite SHeRU R Udd 9aH
LS fdd DI &Fdl H [3yrg &1

°- 1. R GRT 303 R S0TT o aret 3R s Rid e s

W' E gIel geR 3R Afddd &I TR

;q 1. 3 I8 & URETeH @ gHIidd SR Yo §9HaId Jed

D. G |Iv. 3= RI&T W13l Bt GURUN H sfaaird R suaaiiasd
TR el &l deR H Tl
Fafaiad Aol § ¥ 98 S 4 -

T.A-IV,B-1I,C-1,D-1
2ZA-1,B-1,C-1V,D-1I
3A-ILB-IV,C-1I,D-1
4 A-1L,B-II,LC-1I,D-1V
Options :

71087042077. 1
71087042078. 2
71087042079. 3
71087042080. 4

PART II Archaeology
Section Id : 710870250
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870296
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087010551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Robert Bruce Foote of the Geological Survey of India, discovered for the first time in India, an
artefact of which culture?

1. Neolithic Culture

2. Upper Palaeclithic Culture
3. Mesolithic Culture

4, Lower Palaeolithic Culture
Options :

71087042081. 1

71087042082. 2

71087042083. 3

71087042084. 4

Question Number : 51 Question Id : 71087010551 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YR D Fd&vl D ITee g8 e 3 HRd H Ul 9R [l I%pid & QR & @i oI
t?

1. 9d UT9TiU[D G&pid

2. 3o RIS H5pid
3. He UMuIfoTe H5hid

4, 1719 QT S5 id
Options :

71087042081. 1
71087042082. 2
71087042083. 3
71087042084. 4

Question Number : 52 Question Id : 71087010552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
From which of the following sites, there is evidence of the construction of a wall of boulders
for partitioning the interior space during the Acheulean phase?

1. Adamgarh
2. Bhimbetka
3. Gudiyam

4. Anagawadi
Options :
71087042085. 1
71087042086. 2
71087042087. 3
71087042088. 4

Question Number : 52 Question Id : 71087010552 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafeRad =icl & O fhaH SRfeg- /Al & GRH RS ®H & [GHSH & o7Y T1=s &1
fEar & fmfo &1 gren fAaar g 2

Options :

71087042085. 1
71087042086. 2
71087042087. 3
71087042088. 4

Question Number : 53 Question Id : 71087010553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Postholes were noticed at which one of the following sites during the Acheulean phase?

1. Paisra

2. Chirki

3. Bhimbetka
4. Hunsgi
Options :
71087042089. 1
71087042090. 2
71087042091. 3
71087042092. 4

Question Number : 53 Question Id : 71087010553 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G TR & GRH Hafeiad 3 ¥ d ®d R WH 0 Uk T Y 27

1. T
2. @t
3. Yiqee®

4, gug
Options :
71087042089. 1
71087042090. 2
71087042091. 3
71087042092. 4

Question Number : 54 Question Id : 71087010554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A chert core engraved with geometric design was found at:

1. Bhimbetka

2. Damdama

3. Chandravati

4. Pandu Rajar Dhibi
Options :
71087042093. 1
71087042094. 2
71087042095. 3
71087042096. 4

Question Number : 54 Question Id : 71087010554 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ST T 3ifded 91 BR ®el g 113 ot 2

1. HiHeed1

2. GHGHI

3. TIadl

4, UigAeR il
Options :
71087042093. 1
71087042094. 2
71087042095. 3
71087042096. 4

Question Number : 55 Question Id : 71087010555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Domestic dogs were buried in human burial at:

1. Gufkral

2. Chirand

3. Senuar

4, Burzahom
Options :
71087042097. 1
71087042098. 2
71087042099. 3
71087042100. 4

Question Number : 55 Question Id : 71087010555 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ol $d Hd KaTgH H ®el abAd T Y ?

1. [thehld

2. fri

3. TR

4. goigi|
Options :
71087042097. 1
71087042098. 2
71087042099. 3
71087042100. 4

Question Number : 56 Question Id : 71087010556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ash mound sites are related to which one of the following prehistoric cultures?

1. Palaealithic
2. Mesolithic
3. Neolithic

4. Megalithic
Options :
71087042101. 1
71087042102. 2
71087042103.3
71087042104. 4

Question Number : 56 Question Id : 71087010556 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. QRTGTSTOT
2. HEIUTETO]

3. AGUTHT

4, HgTUTHTu
Options :
71087042101. 1
71087042102. 2
71087042103. 3
71087042104. 4

Question Number : 57 Question Id : 71087010557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Mud brick houses for living were used at which one of the following Neolithic sites?

1. Chirand

2. Gufkral

3. Mehargarh
4, Koldihwa
Options :
71087042105. 1
71087042106. 2
71087042107. 3
71087042108. 4

Question Number : 57 Question Id : 71087010557 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. TRig

2. bl

3. HeYTTg

4. DIcTsigdl
Options :
71087042105. 1
71087042106. 2
71087042107. 3
71087042108. 4

Question Number : 58 Question Id : 71087010558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

An archaeological industry found in France and northern Spain identified as
transitional between the Middle Palaeolithic and Upper Palaeolithic is:

1. Aurignacian

2. Chatelperronian
3. Solutrean

4. Gravettian
Options :
71087042109. 1
71087042110. 2
71087042111. 3
71087042112. 4

Question Number : 58 Question Id : 71087010558 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ARG
2. ACTRIFTA
3. HregiAg—

4. Jafeg
Options :
71087042109. 1
71087042110. 2
71087042111. 3
71087042112. 4

Question Number : 59 Question Id : 71087010559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The nickname 'Nutcracker Man' was given to which one of the following?

1. Homo habilis

2. Homo erectus

3. Ardipithecus ramidus
4. Paranthropus boisel
Options :
71087042113. 1
71087042114. 2
71087042115. 3
71087042116. 4

Question Number : 59 Question Id : 71087010559 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. gl Blafer

2. g G

3. MG ITUYEHE Hey
4. IRy qigHt
Options :
71087042113. 1
71087042114. 2
71087042115. 3
71087042116. 4

Question Number : 60 Question Id : 71087010560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The earliest stone tools, dated approximately 2.5 million years ago were found at

1. Hadar

2. Olduvai Gorge
3. Lokalalei

4, Dmanisi
Options :
71087042117. 1
71087042118. 2
71087042119. 3
71087042120. 4

Question Number : 60 Question Id : 71087010560 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bla

> Siiegaré T
3. SihTae

4, THAE!
Options :
71087042117. 1
71087042118. 2

71087042119. 3
71087042120. 4

Question Number : 61 Question Id : 71087010561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who discovered the Lower Palaeolithic artefacts from Marfa in Uttar Pradesh?

1. Robert Bruce Foote
2. K. R.U. Tedd

3. A.C.L Carlleyle

4, L. A. Cammiade
Options :
71087042121. 1
71087042122.2
71087042123. 3
71087042124. 4

Question Number : 61 Question Id : 71087010561 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 76 g8 BT
2. &.3R Y, s

3. T Uq. daea
4, Td. 0. SIS

Options :

71087042121. 1
71087042122. 2
71087042123. 3
71087042124. 4

Question Number : 62 Question Id : 71087010562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The oldest Quaternary formation of the middle Son valley is:

1. Sihawal

2. Patpara

3. Khuteli

4. Baghor
Options :
71087042125. 1
71087042126. 2
71087042127. 3
71087042128. 4

Question Number : 62 Question Id : 71087010562 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Y G 91¢! &1 Iqdd Srei UrdHaH SHd § 2
1. Fograd

2. Jcux]

3. gedl

4. 9TUR
Options :
71087042125. 1
71087042126. 2
71087042127.3
71087042128. 4

Question Number : 63 Question Id : 71087010563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following sites has produced evidence of terracotta drainage pipes?

1. Sanghol

2. Kausambi
3. Nasik

4. Sugh
Options :
71087042129. 1
71087042130. 2
71087042131.3
71087042132. 4

Question Number : 63 Question Id : 71087010563 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. G4

2. DI

3. gD

4. 94

Options :
71087042129. 1
71087042130. 2
71087042131. 3
71087042132. 4

Question Number : 64 Question Id : 71087010564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which one of the following cultural periods, terracotta human figurines head were made
with the help of a mould?

1. Harappan
2. OCP

3. PGW

4. NEPW
Options :
71087042133. 1
71087042134. 2
71087042135.3
71087042136. 4

Question Number : 64 Question Id : 71087010564 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. GoW™
2. 3l &,

3. Ulol &g
4 HEH Sy
Options :
71087042133. 1
71087042134, 2
71087042135. 3
71087042136. 4

Question Number : 65 Question Id : 71087010565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following sites has produced Roman ceramic wares?

1. Ujjain

2. Ahar

3. Jodhpura

4. Badri
Options :
71087042137. 1
71087042138. 2
71087042139. 3
71087042140. 4

Question Number : 65 Question Id : 71087010565 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 3w
2. Hlels

3. SIEYRT
4, gredt

Options :

71087042137. 1
71087042138. 2
71087042139. 3
71087042140. 4

Question Number : 66 Question Id : 71087010566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which one of the following cultural periods, the use of copper and stone objects
is substantially reduced at the site of Kayatha?

1. Kayatha

2. Malwa

3. Ahar

4. Early Historical
Options :
71087042141. 1
71087042142. 2
71087042143. 3
71087042144. 4

Question Number : 66 Question Id : 71087010566 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 19Ul

2. Hicddl

3. Hlelg

4. URIH® Uldgia®
Options :
71087042141. 1
71087042142. 2
71087042143. 3
71087042144. 4

Question Number : 67 Question Id : 71087010567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which one of the following sites, the evidence of Vetches has been discovered?

1. Mitathal

2. Mirzapur

3. Kuntasi

4. Balakot
Options :
71087042145. 1
71087042146. 2
71087042147. 3
71087042148. 4

Question Number : 67 Question Id : 71087010567 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042145. 1
71087042146. 2
71087042147.3
71087042148. 4

Question Number : 68 Question Id : 71087010568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following Megalithic Burial types are the typical forms found in Kerala?
A. Kudaikal

B. Cist burials

C. Topikal

D. Rock - cut burial chambers

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and C only
Options :
71087042149. 1



71087042150. 2
71087042151. 3
71087042152. 4

Question Number : 68 Question Id : 71087010568 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. PIAATB
2. HAABTC
3. ®HAACID
4. HIAATC
Options :
71087042149, 1
71087042150 2
71087042151. 3
71087042152, 4

Question Number : 69 Question Id : 71087010569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A detailed survey of the region around Manjankaranai on the Kortallayar river and at
Kannapuram in the Godavari valley was made in the 1930s by:

1. V. D. Krishnaswami and K.V. Soundararajan
2. F. ). Richards and L. A. Cammiade

3. T. T. Paterson and H. J. H. Drummond

4. B. Allchin, A. Goudie and K. T. M. Hegde
Options :

71087042153. 1

71087042154. 2

71087042155. 3

71087042156. 4

Question Number : 69 Question Id : 71087010569 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
1930 & GI® H BiccaidR 161 T HoHd Uil & SHUY & &F § 3R SR & Mead 9 W
g gdamn fosges gRI fasan 71 41 2

1. a3, puTRar 3R %81, 9iex IoH
2. U0, ol RISY 3R Td. T SIiHsMS

3. 121 UedH SR a.oiud. gHS

4. di 3iifcem, T IS IR B A, e
Options :

71087042153 1

71087042154, 2

71087042155. 3

71087042156. 4

Question Number : 70 Question Id : 71087010570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following sites has produced evidence of a flint blade making workshop?

1. Amri

2. Saraikhola

3. Kot Diji

4, Ganweriwala
Options :
71087042157. 1
71087042158.2
71087042159. 3
71087042160. 4

Question Number : 70 Question Id : 71087010570 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. SHTHI

2. TGN

3. ®le giell

4, o Siare
Options :
71087042157. 1
71087042158. 2
71087042159. 3
71087042160. 4

Question Number : 71 Question Id : 71087010571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following sites has yielded antennae swords of the Copper Hoard type in a
late-Harappan context?

1. Sanauli

2. Mandi

3. Hulas

4. Alamgirpur
Options :
71087042161. 1
71087042162. 2
71087042163. 3
71087042164. 4

Question Number : 71 Question Id : 71087010571 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. TG
2. Ot

3. gqld

4, ATAFIR R
Options :

71087042161. 1
71087042162. 2
71087042163. 3
71087042164. 4

Question Number : 72 Question Id : 71087010572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From which of the following sites, a hoard of 31 Copper anthropomorphs has been found?

1. Saipai

2. Madarpur
3. Bithur

4. Gungeria
Options :
71087042165. 1
71087042166. 2
71087042167. 3
71087042168. 4

Question Number : 72 Question Id : 71087010572 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafed wreal § 9 &g 9 31 did @1 AFadid ®f Y O @l g 2

1. qug
2. FGRER
3. fagR
4. Taf

Options :

71087042165. 1
71087042166. 2
71087042167. 3
71087042168. 4

Question Number : 73 Question Id : 71087010573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The most important contribution of Geology to Archaeology is:

1. Varve analysis
2. Stratification
3. Typology

4. Soil analysis
Options :
71087042169. 1
71087042170. 2
71087042171. 3
71087042172. 4

Question Number : 73 Question Id : 71087010573 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AT 1 e [ & [0 Hallie Feayul areH & -

1. AU fa=ey
2. TRID

3. U= faqiH

4, e fazamur
Options :
71087042169. 1
71087042170. 2
71087042171.3
71087042172. 4

Question Number : 74 Question Id : 71087010574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following cultures is characterised by the use of iron tools and Black-and-
Red ware?

1. OCP culture

2. Painted Grey Ware culture
3. Megalithic culture

4. Rangmahal culture
Options :

71087042173. 1

71087042174. 2
71087042175.3

71087042176. 4

Question Number : 74 Question Id : 71087010574 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tl & SHIeR 3R BIA-37R-T1e UE &1 WarT Faikiiad § ¥ g Ol o G2vars 2

1. .G, i
PACIECE IR ER TN
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Options :

71087042173. 1
71087042174. 2
71087042175. 3
71087042176. 4

Question Number : 75 Question Id : 71087010575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The most characteristic ware of Ahar culture is:

1. Black-and-Red Ware
2. Thin Red Ware

3. Buff Ware

4. Reserved Slip Ware
Options :

71087042177. 1
71087042178. 2
71087042179. 3
71087042180. 4

Question Number : 75 Question Id : 71087010575 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

3BT Y ia &1 Yalftie Agayy U W & -
1. PEITed U GO0

2. Udcil Tl Ui gdu]
3. 9% U QIO

4, ioies AU 9 W
Options :

71087042177. 1
71087042178. 2
71087042179. 3
71087042180. 4

Question Number : 76 Question Id : 71087010576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which cave of Ajanta depicts a Persian embassy being received by an Indian king in full court?

1. Cave No 9
2. Cave No 1
3. Cave No 12
4. Cave Mo 19
Options :
71087042181. 1
71087042182. 2
71087042183. 3
71087042184. 4

Question Number : 76 Question Id : 71087010576 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Holdl B 69 6T H 1R SXaR H U YR 60 5R1 URiaH gdf &1 Wrd @id g4 [hEd fddn
T 82

1. @1, 9

2. I, 1

3. 7@, 12
4, TH1H, 19
Options :
71087042181. 1
71087042182. 2
71087042183, 3
71087042184 4

Question Number : 77 Question Id : 71087010577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the absence of any datable object, which one of the following factors serves primarily as a
good indicator of the sequence and chronology of a site?

1. Pottery

2. Size

3. Sail

4. Bones
Options :
71087042185. 1
71087042186. 2
71087042187. 3
71087042188. 4

Question Number : 77 Question Id : 71087010577 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafy Fefor & g el avq 1 SrquRfa 7 FRfRed 3 & P14 91 SR Wd & H49 U
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1. JgHis

2. AP
3.7

4. gigat
Options :
71087042185. 1
71087042186. 2
71087042187. 3
71087042188. 4

Question Number : 78 Question Id : 71087010578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

The pottery which has its wide distribution in India in time and space, and which cannot be
attributed to a single cultural tradition is:

1. Lustrous Red Ware

2. Roulettad Ware

3. Black Slipped Ware

4, Black - and - Red Ware
Options :

71087042189. 1
71087042190. 2
71087042191. 3
71087042192. 4

Question Number : 78 Question Id : 71087010578 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
9% JoHis ol HRd H T9Y 3R /M H AUd [Gorvl 8, 34 (o U&pide WWRI H TAled
T fhg ST gdhar g :

1. THDGR TId Hig

2. dfsh el SATIHIUG HiS (Rouletted wave)
3. BIdl f&ts gauis

4, DIA-HAR-TTd geuis

Options :

71087042189. 1

71087042190. 2

71087042191. 3

71087042192. 4

Question Number : 79 Question Id : 71087010579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Corporeal relics of Gautam Buddha from the funeral pyre were divided into how many
portions?

1. 10

2. 13

3.8

4.18

Options :
71087042193. 1
71087042194. 2
71087042195. 3
71087042196. 4

Question Number : 79 Question Id : 71087010579 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Mdq g5 & =P fadl 9 U SR a2l @i fba HiT | sier a2

1. 10

213

3.8

4.18

Options :
71087042193. 1
71087042194. 2
71087042195. 3
71087042196. 4

Question Number : 80 Question Id : 71087010580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The rock-cut cave temple at Badami contains the inscription of which famous king?

1. Vasishtiputra Pulumavi
2. Mangalisa

3. Chandragupta Il

4. Vikramaditya Il
Options :

71087042197. 1
71087042198. 2
71087042199. 3
71087042200. 4

Question Number : 80 Question Id : 71087010580 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. I GgAEl
2. HATTerE

3. 9= fgdid

4, faspaTiea fadim
Options :
71087042197. 1
71087042198. 2
71087042199. 3
71087042200. 4

Question Number : 81 Question Id : 71087010581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The excavated chamber at Udaigiri, near Vidisa, bears the inscription of which famous Gupta
ruler?

1. Samudragupta
2. Chandragupta Il
3. Kumaragupta
4. Skandagupta
Options :
71087042201. 1
71087042202. 2
71087042203. 3
71087042204. 4

Question Number : 81 Question Id : 71087010581 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafean & iy 35k & I@Hd $& &1 icid 6 Uils a0 s 4 Y6 g 7

1§

2. I faedig
3. PHR

4, Tl
Options :
71087042201. 1
71087042202. 2
71087042203. 3
71087042204. 4

Question Number : 82 Question Id : 71087010582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The caves in the Nagarjuna hill belong to the Mauryan period. This is attested from the
inscription of which one of the following kings?

1. Ashoka

2. Chandragupta Maurya
3. Bindusara

4. Dasharatha

Options :

71087042205. 1
71087042206. 2
71087042207. 3
71087042208. 4

Question Number : 82 Question Id : 71087010582 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TS TeTg! H RRd e O S1e 3 Ui § SUe1 9 HuiiEd 59 e & sfic
ERIEIAE 2

4. ¢IY
Options :
71087042205. 1
71087042206. 2
71087042207. 3
71087042208. 4

Question Number : 83 Question Id : 71087010583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Thermoluminescence method of absolute dating was invented by

1. Johnson

2. Koroff

3. Fleischer

4. Libby
Options :
71087042209. 1
71087042210. 2
71087042211. 3
71087042212. 4

Question Number : 83 Question Id : 71087010583 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. S

2. DRIG

3. TRITR

4, foelt
Options :
71087042209. 1
71087042210. 2
71087042211. 3
71087042212. 4

Question Number : 84 Question Id : 71087010584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AMS dates of Brahmi inscribed pot sherds from Kodumanal have pushed back the origin of
Brahmi script to

1. 8% century BCE
2. 6™ century BCE
3. 3" century BCE
4. 1%t century BCE
Options :
71087042213. 1
71087042214. 2
71087042215. 3
71087042216. 4

Question Number : 84 Question Id : 71087010584 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
DIGHA U i Sel Japifoid 94 & 3l &1 wuH.uy. faiar 3 sl &0 o 30 &I
fFfeiad o1 4 ®Id ao Uis B fea g 2

1. 8 df Ydlsa] 391 44
2. 6 31 Tdle] 391 g4
3. I Trdled) 391 9
4, U Trdlsal 391 0d
Options :
71087042213. 1
71087042214. 2
71087042215. 3
71087042216 4

Question Number : 85 Question Id : 71087010585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following inscriptions throws light on the divinity of Kingship?

1. Mehrauli Iron Pillar Inscription

2. Bilsad Pillar Inscription of year 96

3. Karmadanda Stone Inscription

4. Besnagar Garuda Pillar Inscription of Heliodorus
Options :

71087042217. 1

71087042218. 2

71087042219. 3

71087042220. 4

Question Number : 85 Question Id : 71087010585 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafaiad ST e 39 & Gad IR TSR SIadl © ?

1. HeRidl oig WY 3ificd

2. 34 96 T f9ags WY 31f¥cg

3. HHGUST UMl 3Hficd

4, BITSIERY &1 99T R 68 WY 3Micd
Options :

71087042217. 1

71087042218. 2

71087042219. 3

71087042220. 4

Question Number : 86 Question Id : 71087010586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following coin types represents the king receiving three circular objects from
God Vishnu himself?

1. Apratigha type coins

2. King and Queen type coins

3. Chakravikrama type coins

4. Karthikeya type coins of Kumaragupta |
Options :

71087042221. 1

71087042222. 2

71087042223. 3

71087042224. 4

Question Number : 86 Question Id : 71087010586 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fufeiad oo fad & UHRI U 98 UeiRid gidl § b W WM faw] 9 3= 3H gaoR g e
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1. 3UTTY UPR & faad

2. 36T 3R I UBR & Had

3. 9% [ HI UBR & (G

4, PUR I WYY & Blidhy UHR P [Udd
Options :

71087042221. 1

71087042222. 2

71087042223. 3

71087042224. 4

Question Number : 87 Question Id : 71087010587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following depicts the image of Durga?

1. Relief of Ajanta Cave No 17

2. Raja Rani Temple of Bhubaneshwar
3. Dashavatara Temple of Deogarh

4. Brihadeswara Temple of Tanjore
Options :

71087042225. 1

71087042226. 2

71087042227. 3

71087042228. 4

Question Number : 87 Question Id : 71087010587 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. SfoIdT T G&=T 17 B IHR

Options :

71087042225. 1
71087042226. 2
71087042227.3
71087042228. 4

Question Number : 88 Question Id : 71087010588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following structures has a horse-shoe shaped entrance?

1. Caves of Lomas Rishi

2. Caves of Kondane

3. Caves of Bhaja

4. Caves of Udaigiri and Khandagiri
Options :

71087042229. 1

71087042230. 2

71087042231. 3

71087042232 4

Question Number : 88 Question Id : 71087010588 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T RETR U PO BT UGN gR YIS B A & PR P16 ?

1. THY B BT BT

2. BieH B BT

3. YISl B BT

4, ISR quT @SR &1 B
Options :

71087042229. 1

71087042230. 2

71087042231, 3

71087042232. 4

Question Number : 89 Question Id : 71087010589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



How do we know that Gupta gold coins were influenced by the Kushana coins?

1. Reverse devices

2. Obverse devices

3. Weight standard

4. Dress of king on the obverse
Options :

71087042233. 1

71087042234. 2

71087042235. 3

71087042236. 4

Question Number : 89 Question Id : 71087010589 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Ofda| U™

2. 3UHFT U

3. YR AFH
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Options :

71087042233. 1
71087042234. 2
71087042235. 3
71087042236. 4

Question Number : 90 Question Id : 71087010590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following Buddha images imitates the full-blown lotus showing rope design,
rosetta and a coiled garland?

1. Seated Buddha Image Sarnath
2. Mathura Buddha

3. Lohanipur Buddha

4. Sultanganj Buddha

Options :

71087042237. 1

71087042238. 2

71087042239. 3

71087042240. 4

Question Number : 90 Question Id : 71087010590 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafaiad g€ o ufaarsi & ¥ f5od quf U T G0 g0 o9 &I HaRid Bl gs T84l &I 93a-
oie 3R TSGR HIell el & 2
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Options :
71087042237. 1
71087042238. 2
71087042239. 3
71087042240. 4

Question Number : 91 Question Id : 71087010591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are dating methods?

A OSL
B. AMS
C. GPR
D.TL

Choose the correct answer from the options given below

1. A, B & Conly
2. A, B &Donly
3.A, C&Donly
4. B, C & D only
Options :
71087042241. 1
71087042242. 2
71087042243. 3
71087042244. 4

Question Number : 91 Question Id : 71087010591 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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C. ol Ot 3R

DA Td

i f&u e fdoredl & ¥ 98l S 9 -
1.A B3R C

2 A B3RD

3.A C3RD

4B, C3RD

Options :

71087042241 1

71087042242 2

71087042243. 3
71087042244. 4

Question Number : 92 Question Id : 71087010592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From Kenya, which of the following human types have been found?

A. Pithecanthropus robustus

B. Australopithecus anamensis
C. Pithecanthropus boisei

D. Homo habilis

Choose the correct answer from the options given below

1. A, B & Conly
2.B,C&Donly
3.A, B&Donly
4. A C&Donly
Options :
71087042245. 1
71087042246. 2
71087042247. 3
71087042248. 4

Question Number : 92 Question Id : 71087010592 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i feu TTu fasedl & 9 981 SR g -
1.A B3R C

2.B,C3HRD

3.A B3RD

4 A C3HRD

Options :

71087042245 1

71087042246. 2

71087042247. 3
71087042248. 4

Question Number : 93 Question Id : 71087010593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Neolithic settlers lived in huts of which of the following shapes?
A. Triangular

B. Square

C. Circular

D. Rectangular

Choose the correct answer from the options given below

1. A & B only
2.B & Conly
3.C&Donly
4. A & D only
Options :
71087042249. 1
71087042250. 2
71087042251. 3
71087042252. 4

Question Number : 93 Question Id : 71087010593 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.A 3B

2. B3R C

3.C3RD

4 A3RD

Options :

71087042249, 1

71087042250. 2

71087042251. 3
71087042252. 4

Question Number : 94 Question Id : 71087010594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sites of rural Jorwe culture reached the urban stage?
A. Daimabad

B. Chandoli

C. Songaon

D. Inamgaon

Choose the correct answer from the options given below

1. A & B only
2. A & Conly
3.B & Conly
4. A & D only
Options :
71087042253. 1
71087042254. 2
71087042255. 3
71087042256. 4

Question Number : 94 Question Id : 71087010594 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A 3R B
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4 ARD
Options :
71087042253, 1
71087042254. 2
71087042255. 3
71087042256 4

Question Number : 95 Question Id : 71087010595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Cattle pens have been found from which of the following sites?
A. Koldihwa

B. Mahagara

C. Chirand

D. Piklihal

Choose the correct answer from the options given below;

1. A & B only
2.B & Conly
3.C&Donly
4.B & D only
Options :
71087042257. 1
71087042258. 2
71087042259. 3
71087042260. 4

Question Number : 95 Question Id : 71087010595 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A 3R B
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4. B3R D

Options :

71087042257. 1

71087042258, 2

71087042259. 3
71087042260. 4

Question Number : 96 Question Id : 71087010596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following cord impressions are obtained from the Neolithic culture of India?
A. Single strand cord

B. Double strand twisted cord

C. Triple strand cord

D. Knots of thick cord

Choose the most appropriate answer from the options given below;

1. A, B & Conly
2. A, B &Donly
3.A, C&Donly
4. B, C & D only
Options :
71087042261. 1
71087042262. 2
71087042263. 3
71087042264. 4

Question Number : 96 Question Id : 71087010596 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YR & AU TEpid & FgfaRad § 9 g UeR & & @ 8l S Uik g3 6 ?
A. T YR drcit T8gt

B. &I YT Tl ARIa! T4t

C. A YT arelt Tt

DA T B TS
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1.A B3R C

2.A B3RD

3. A C3RD

4.B,C3RD

Options :

71087042261. 1

71087042262. 2

71087042263. 3
71087042264. 4

Question Number : 97 Question Id : 71087010597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following books were written by F. E. Zeuner?
A. Hunters (n Transition

B. Stone Age and Pleistocene Chronology in Gujarat

C. Dating The Past: An Introduction to Geochronology

D. Palaeoanthropology

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087042265. 1
71087042266. 2
71087042267. 3
71087042268. 4

Question Number : 97 Question Id : 71087010597 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. &dd A 3R B
2. Paa B3R C
3. ®ad C R D
4. HITAARD
Options :
71087042265 1
71087042266. 2
71087042267. 3
71087042268. 4

Question Number : 98 Question Id : 71087010598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Upper Palaeolithic ‘workshops’ in Hunsgi-Baichbal basins are
A. Sagileru

B. Patne

C. Salvadgi

D. Maralbhavi

Choose the correct answer from the options given below;

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087042269. 1
71087042270. 2
71087042271. 3
71087042272. 4

Question Number : 98 Question Id : 71087010598 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. &dd A 3R B
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4. HITAARD
Options :
71087042269. 1
71087042270. 2
71087042271, 3
71087042272. 4

Question Number : 99 Question Id : 71087010599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Yale - Cambridge expeditions that conducted prehistoric research in Potwar plateau
included

A. De Terra and Paterson

B. H. L. Movius

C. Teilhard de Chardin, HJH. Drummond and D. K. Sen

D. K.R.H. Todd

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and C only
Options :
71087042273. 1
71087042274. 2
71087042275. 3
71087042276. 4

Question Number : 99 Question Id : 71087010599 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042273. 1
71087042274. 2
71087042275. 3
71087042276. 4

Question Number : 100 Question Id : 71087010600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



British Archaeclogical Mission to Pakistan included:

A. M. F. Hemingway

B. H. M. Rendell

C. R. W. Dennell

D. M. A. Halim

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, Band Conly
3.B,Cand D only
4. A, B and D only
Options :
71087042277. 1
71087042278. 2
71087042279. 3
71087042280. 4

Question Number : 100 Question Id : 71087010600 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042277. 1
71087042278. 2

71087042279. 3
71087042280. 4

Question Number : 101 Question Id : 71087010601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following features was introduced for the first time during the NBPW period?
A. Baked bricks

B. Pottery pipes

C. Uninscribed cast copper and silver coins

D. Terracotta ring wells

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. B and D only
Options :
71087042281. 1
71087042282. 2
71087042283. 3
71087042284. 4

Question Number : 101 Question Id : 71087010601 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. B3RD
Options :
71087042281. 1
71087042282. 2
71087042283. 3
71087042284 4

Question Number : 102 Question Id : 71087010602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following cultures covers broadly the areas of NE Baluchistan - SE Northwest
Frontier Province and northern Rajasthan and Haryana?

A. Kechi Beg

B. Kulli

C. Sothi - Siswal

D. Bara

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. A and D only
4. B and D only
Options :
71087042285. 1
71087042286. 2
71087042287. 3
71087042288. 4

Question Number : 102 Question Id : 71087010602 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087042285 1
71087042286. 2
71087042287. 3
71087042288. 4

Question Number : 103 Question Id : 71087010603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sites are known as Dhulkot and Mound of the Dead locally?
A. Harappa

B. Mohenjodaro

C. Ahar

D. Jhodhpura

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and C only
Options :
71087042289. 1
71087042290. 2
71087042291. 3
71087042292. 4

Question Number : 103 Question Id : 71087010603 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087042289. 1
71087042290. 2
71087042291. 3
71087042292. 4

Question Number : 104 Question Id : 71087010604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify among the following, the place of location of Mehrgarh and Jalilpur sites
A. The confluence of Ravi and Chenab

B.The confluence of the Beas and Sutlej

C. Kacchi plain

D. Hakra plain

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3.B and C only
4. Cand D only
Options :
71087042293. 1
71087042294. 2
71087042295. 3
71087042296. 4

Question Number : 104 Question Id : 71087010604 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087042293 1
71087042294. 2
71087042295. 3
71087042296 4

Question Number : 105 Question Id : 71087010605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sites has yielded OCP at their earliest levels?
A. Shringverpur

B. Atranjikhera

C. Jodhpura

D. Bhagwanpura

Choose the correct answer from the options given below:

1. A, Band C only
2.B, Cand D only
3. A and B only

4. Cand D only
Options :
71087042297. 1
71087042298. 2
71087042299. 3
71087042300. 4

Question Number : 105 Question Id : 71087010605 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087042297. 1
71087042298. 2

71087042299. 3
71087042300. 4

Question Number : 106 Question Id : 71087010606 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following Harappan sites has been found unfortified?
A. Surkotda

B. Banawali

C. Chanhudaro

D. Allahdino

Choose the most appropriate answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087042301. 1
71087042302. 2
71087042303. 3
71087042304. 4

Question Number : 106 Question Id : 71087010606 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fProfafad & @ o1 9 gowr wd o o1 feaddt & urar mar g2

D. TG AT
Fafeied faweal § ¥ waifae Iugad St gHu

1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087042301 1
71087042302. 2
71087042303. 3
71087042304. 4

Question Number : 107 Question Id : 71087010607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following pottery shapes belongs to the classic Harappan ceramic assemblage?
A. Sprinkler

B. Goblet with pointed base

C. Jar with S-profile

D. Carinated Handi

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087042305. 1
71087042306. 2
71087042307. 3
71087042308. 4

Question Number : 107 Question Id : 71087010607 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafad & ¥ oH 4t g His Aefagl 4vg gsW Gwvs 99=d 4 Jditd g ¢

A. BRI
3 I et et e

C.Iq !.‘I\ILhI'aﬂ dledl wllx
D.Ade (carinated) HE]
fofafad faeeal & 9 98 S gfu

1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087042305. 1
71087042306. 2
71087042307. 3
71087042308. 4

Question Number : 108 Question Id : 71087010608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following had issued silver coins?

A. Samudragupta

B. Gautamiputra Satakarni

C. Chandragupta I

D. Skandagupta

Choose the correct answer from the options given below:

1.B,.C,Donly
2.A,B,Conly
3.A,C,Donly
4. A,B, Donly
Options :
71087042309. 1
71087042310. 2
71087042311. 3
71087042312. 4

Question Number : 108 Question Id : 71087010608 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g e # ° fogd 9idl & fbes gad 42
A, T

B. TIqHIgA Frad it

Ca= fegd

D. Th-Gi

1 fGu T faedl # 9 981 3R &I 98- Y :

1. ®9d B, C, D
2. PAAA, B, C
3. BAAA, C, D
4, &9d A, B, D
Options :

71087042309. 1
71087042310. 2
71087042311. 3
71087042312. 4

Question Number : 109 Question Id : 71087010609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following temples is built in the Nagara style?
A. Brahadishwara temple

B. Kandariya Mahadeo temple

C. Lingaraja temple

D. Papanath temple

choose the correct answer from the options given below:

1. A, B and C only
2.D and C only
3.B, Cand D only
4. A and D only
Options :
71087042313. 1
71087042314. 2
71087042315. 3
71087042316. 4

Question Number : 109 Question Id : 71087010609 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FEfEa A A S P Y AR TR IA A T & 2
A. §BGAR HiER

B. BGiLdl Aglcd AR
5 -

D. UTg=Ty Hig
fgifed 5 4 9el [doed g -
1. PdTA BT C

2. HAADTC

3. WA B, Cd D

4 PITATD
Options :
71087042313, 1
710870423 14. 2

71087042315. 3
71087042316. 4

Question Number : 110 Question Id : 71087010610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following Buddhist rock-cut cave sites in Maharashtra contains inscriptions of
Vasishtiputra Pulumavi?

A. Nasik

B. Bhaja

C. Karle

D. Pitalkhora

choose the correct answer from the options given below:

1. A and C only
2. A and D only
3.Cand D only
4. A and B only
Options :
71087042317. 1
71087042318. 2
71087042319. 3
71087042320. 4

Question Number : 110 Question Id : 71087010610 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HeR1y H FafaRad # 4 & 9 dl Sagd 0T il # digys Yadidl & fHca g ?
A, TGS

B. HTaTl

C. PR

D. UideraRI

FafeRad faeeal # 9 981 3w gHU

1. B A AR C
2. HaA D AR A
3. ®ad C R D
4, Had A 3R B
Options :
71087042317 1
71087042318. 2
71087042319. 3
71087042320. 4

Question Number : 111 Question Id : 71087010611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Rouletted ware is now considered an Indian ware and not Roman due to studies conducted by

which of these scholars?

A. Lewis Binford

B. V. D. Gogte

C. David Clarke

D. Heidrun Schenk

Choose the correct answer from the options given below:

1.A,Band D only
2. A and C only

3. B and D only

4. A and D only
Options :
71087042321. 1
71087042322. 2
71087042323. 3
71087042324. 4

Question Number : 111 Question Id : 71087010611 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fafafad § ¢ i fagHi g [T 7T SreiaH] & Basaey didd His RIStcs ai) @i 3@
A ATgT S YR HiS AF11d § 7

A. TG fe®18

B. d1.31. T

c. Sfds wh

D. 3&¥H WD
FafeRad faeeal # 9 981 3w gHU

1. ®dd A B3R D
2. Had C 3R A

3. Had B 3R D

4. HITAARD
Options :
71087042321. 1
71087042322. 2
71087042323, 3
71087042324 4

Question Number : 112 Question Id : 71087010612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following were the first two to issue Asvamedha type gold coins?
A. Samudragupta

B. Skandagupta

C. Chandragupta I

D. Kumaragupta |

Choose the most appropriate answer from the options given below:

1. A and B only
2. A and D only
3.Cand D only
4. B and C only
Options :
71087042325. 1
71087042326. 2
71087042327. 3
71087042328. 4

Question Number : 112 Question Id : 71087010612 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FETEa Jeell # SiHY UHR & WUl fah daH dald WUH &l D 4 7
A THEW

B. Wb

C. g1« fgdig

D. THRE U¥H

Fafeiad famedl # 9 Faiide 3ugad 3w gHU:

1. &dd A 3R B
2. PAAA R D
3. ®ad C R D
4, HAAB IR C
Options :
71087042325 1
71087042326. 2
71087042327. 3
71087042328. 4

Question Number : 113 Question Id : 71087010613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following temples is known for erotic sculptures on the exterior wall?
A. Sun Temple of Konark

B. Brihadeshwara Temple of Thanjavur

C. Kandariya Mahadev temple

D. Gangaikondacholapuram

Choose the most appropriate answer from the options given below:

1. B and D only
2. A and C only
3.B and C only
4. A and D only
Options :
71087042329. 1
71087042330. 2
71087042331. 3
71087042332. 4

Question Number : 113 Question Id : 71087010613 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FrafeRad | € o Afe=l @I aredl SlaRl IR BH® Hidbal & (68 SF] Sidl § 2
A. DU BT g A<

B. ToilR @ geaaR AR

C. Piial Hglad AR

D. TS ®ISTATCTYRH

Fafeiad fd@eal § ¥ aifie Jugad 3w gy -

1. 9d B R D
2. Had A 3R C
3. PaaB 3R C
4. HITAARD
Options :
71087042329. 1
71087042330. 2
71087042331. 3
71087042332. 4

Question Number : 114 Question Id : 71087010614 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following kings started Indianizing coin devices?
A. Kanishka

B. Samudragupta

C. Chandragupta I

D. Azes

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. B and D only
Options :
71087042333. 1
71087042334. 2
71087042335. 3
71087042336. 4

Question Number : 114 Question Id : 71087010614 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad & o forg =T = Ha1 331 &1 HRAE B0 L bl
A. DTt

B. T

C. g1« fgdig

D. 3o (Azes)

4 famedl | 9 98l TR g -

1. HAdATB
2. HAABTC
3.®aaCdD
4. HAABTD
Options :
71087042333, 1
71087042334. 2
71087042335, 3
71087042336. 4

Question Number : 115 Question Id : 71087010615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two of the following inscriptions make reference to punch-marked coins?
A. Nanaghat cave inscription of Naganika

B. Nasik cave inscription of Balasri

C. Nasik cave inscription of Pulumavi

D. Nasik cave inscription of Usavadatta

Choose the correct answer from the options given below:

1. B and C only
2. A and C only
3. A and D only
4. B and D only
Options :
71087042337. 1
71087042338. 2
71087042339. 3
71087042340. 4

Question Number : 115 Question Id : 71087010615 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFrofifad sficral @ 1F 3 8l U9 - A1 oed [ae! &1 de Iga e & 7
A. TRTH®T BT AHTHIE THT HHTE

8. STl &1 I T fHcE
C. QETHId! & A1 1 Sifca
D. IYIGel B Al ® HI HHcE
4 famedl | 9 98l TR g -

1. PaABdC
2. HAAATC
3.HAAATD
4. HAABTD
Options :

71087042337 1
71087042338. 2
71087042339. 3
71087042340. 4

Question Number : 116 Question Id : 71087010616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



hMatch List - | with List - 11

List - | List - 11

.The scientific study of diseases of the body in ancient humans and
A. Taphonomy animals

B. Palaeontology Il. The archaeological study of the remains of plants cultivated or used
by human beings

C. Palaeopathology  |[lll. The science of analysing the fossilization process

D. Paleoethnobotany IV. The study of fossils as getting information about the history of life

on earth

Choose the correct answer from the options given below:

T.A-I,B-1,C-IV,D-I
ZA-IV,B-II,C-1,D-1I
3A-11,B-1,C-1IvV,D-1I
4 A-I,B-IV,C-1,D-1
Options :

71087042341. 1
71087042342. 2
71087042343. 3
71087042344. 4

Question Number : 116 Question Id : 71087010616 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gt -1 F It -11 o o @

gl -| T -1l
S . U 9119 3R Sigait & IRRE I @ di-e
' HETH

1. 4 - S RT3 1T AT U Uteli o Sfagi|
B.5iaT=H faqi e

C. RRFTfagHE |11, Sirardidu ufshan &1 faxayor o e fage
D. QRIS v. gedt IR Siia & 3fier & R H g1 U &3
aTgid fagH  [§q SIGI=Al & (g

i feu e fddeul H 9 9l SR -

TA-NLB-1L,C-IV,D-1
2ZA-IV,B-NIILC-1,D-1
3A-ILB-1L,C-1V,D-1I
4 A-ILB-IV,C-I,D-1
Options :

71087042341. 1
71087042342. 2
71087042343. 3
71087042344. 4

Question Number : 117 Question Id : 71087010617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List - 1 with List - 11

List - | List - Il

A. R. V. Joshi l. The Dawn and Devolution of The Indus Civilization
B. E. Neumayer | Il. Prehistoric Rock Paintings of Bhimbetka

C.S. R Rao lll. Prehistoric Indian Rock Paintings

D. Y. Mathpal IV. Stone Age Culture of Central India

Choose the correct answer from the options given below:

T.A-II,B-,C-IV,D-I
ZA-IV,B-I,C-1I,D-1I
3A-IV,B-I,C-1,D-1I
4 A-I,B-IV,C-1,D-1
Options :

71087042345. 1
71087042346. 2
71087042347. 3
71087042348. 4

Question Number : 117 Question Id : 71087010617 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt -1 F Gt -1 D e oy

gl -| Il -1l

A SRAL RN |1, 1S S Uve fEaremH @it S5 [HidagetH
B. 3. HIR 1. Hifge i@ Jd Ufer e Hiddedn
C.UHIR.YE |nififeeiiR® 3feoa A® ufd™

D.dls. HaUld  |IV. H TS Hedk A% Uod el

T.A-ILB-I,C-1V,D-I
2ZA-IV,B-NILC-1,D-1I
3A-IV,B-NIILC-1,D-1
4 A-ILB-IV,C-I,D-1
Options :

71087042345. 1
71087042346. 2
71087042347. 3
71087042348. 4

Question Number : 118 Question Id : 71087010618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



hMatch List - | with List - 11

List - | List - Il
A. M. K. Dhavalikar| I. The Archaeology of Indian Trade Routes

B. S. M. Davis Il. A History of Domesticated Animals

C. N. Lahiri lll. First Farmers of the Deccan
D. F. E. Zeuner IV. The Archaeology of Animals

Choose the correct answer from the options given below:

TA-IV,B-1,C-1I,D-1I
2ZA-11,B-I,C-IV,D-I
3A-1,B-IV,C-1l,D-1I
4 A-I,B-NII,C-1,D-1IV
Options :

71087042349. 1
71087042350. 2
71087042351. 3
71087042352. 4

Question Number : 118 Question Id : 71087010618 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt | T ol 11 & 1y FoeiH diford -

gal-| gal-1l

A THS, yafcdy |1 f& sfdaldisl #p 350 ¢ vcd
B. U9.UH. Sfag 1. € Bt e SHfedds thad
C. . e . B BHY b & Sah

D. Uh 3. 7R v. T8 sfdbaicien Mk T
Frafafiad # ¥ gel fddcd &1 99 Sifod :

T.A-IV,B-1,C-1,D-1
2ZA-1,B-N,C-1V,D-I
3A-1LB-IV,C-1I,D-1
4 A-ILB-1I,C-1,D-1IV
Options :

71087042349. 1
71087042350. 2
71087042351. 3
71087042352. 4

Question Number : 119 Question Id : 71087010619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



hMatch List-1 with List-1l

List-I List-II

A. Lokalalei l. 1.4 million years ago

B. Ardipithecus ramidus ll. 2.5 million years ago
C. Hadar l1l. 2.3 million years ago
D. Ubeidiya IV. 4.5 million years ago

Choose the correct answer from the options given below:

TA-IV,B-1I,C-1,D-1
ZA-IILB-IV,C-1I,D-1I
3A-1I,B-1,C-1l,D-IV
4 A-1,B-1I,C-1vV,D-1I
Options :

71087042353. 1
71087042354. 2
71087042355.3
71087042356. 4

Question Number : 119 Question Id : 71087010619 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tt | D1 Gl 1| b 9y FaH sife

gal-| gal-Il
I . 1.4 e 99 ggd
B. TS UUHY s 1, 2.5 Tafea ad ggd
C. B8 . 2.3 fafe= ad uga
D. JafEal V. 4.5 TfergE 94 ggd
oo & € 981 fdded &1 994 Sifeid ;

T.A-IV,B-1I,C-1,D-1
ZA-ILB-IV,C-1,D-1I
3A-ILB-1L,C-1I,D-1IV
4 A-1L,B-II,C-1V,D-1
Options :

71087042353. 1
71087042354. 2
71087042355.3
71087042356. 4

Question Number : 120 Question Id : 71087010620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Brahamgiri l. Chitradurga
B. Araraj ll. Champaran
C. Banawali lll. Fatehabad
D. Jalilpur IV. West Punjab

Choose the correct answer from the options given below:

T.A-1,B-11,C-1I,D-1IV
2ZA-11,B-I,C-IV,D-I
3A-ILLB-IV,C-1,D-1I
4 A-IV,B-11,C-11,D-1
Options :

71087042357. 1
71087042358. 2
71087042359. 3
71087042360. 4

Question Number : 120 Question Id : 71087010620 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt | T ol 11 & 1y FoeiH diford -

gal-| gal-Il

A. SRR REERUI
BRI || TR

C. FTgat IR SEHEH

D. IR . TTEET OaTe
Fofeiad o o ugl dod &1 994 SifvH

TA-LB-1,C-1L,D-1IV
2ZA-1,B-N,C-1V,D-I
3A-ILB-IV,C-1,D-1I
4 A-IV,B-U,C-1I,D-1
Options :

71087042357. 1
71087042358. 2
71087042359. 3
71087042360. 4

Question Number : 121 Question Id : 71087010621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List I

A. Mohenjodaro . Linear shell scale

B. Harappa Il. Linear bronze scale
C. Lothal l1l. Linear ivory scale
D. Balakot IV. Shell workshop

Choose the correct answer from the options given below:

T.A-1,B-11,C-1I,D-1IV
2ZA-11,B-I,C-IV,D-I
3A-ILLB-IV,C-1,D-1I
4 A-IV,B-11,C-11,D-1
Options :

71087042361. 1
71087042362. 2
71087042363. 3
71087042364. 4

Question Number : 121 Question Id : 71087010621 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt | T ol 11 & 1y FoeiH diford -

gal-| gl-1i

A, AlgsiG el . WY 2e Whal

B. oWl 1. 3T B whd

C. ard 11, T BTt gid s
D. ATclhIe V. B BRI
Fofeiad o O ugl dod @& 994 SifvH

TA-LB-1,C-1L,D-1IV
2ZA-1,B-N,C-1V,D-I
3A-ILB-IV,C-1,D-1I
4 A-IV,B-U,C-1I,D-1
Options :

71087042361. 1
71087042362. 2
71087042363. 3
71087042364. 4

Question Number : 122 Question Id : 71087010622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



hMatch List | with List 11

List | List 11

A, Jakhera l. B. P. Sharma
B. Balu [I. M. D. M. Sahi
C. Hulas ll. U. V. Singh
D. Khatol; V. K. N. Dikshit

Choose the correct answer from the options given below:

T.A-II,B-,C-IV,D-I
2ZA-1II,LB-IV,C-1,D-1ll
3A-IV,B-1,C-11,D-1l
4 A-1,B-1I,C-1I,D-1IV
Options :

71087042365. 1
71087042366. 2
71087042367. 3
71087042368. 4

Question Number : 122 Question Id : 71087010622 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tt | D1 Gl 1| b 9y FaH sife

gal-| Tl-Ii

A SRER . SR.T. 2@
B.gIq. . TH. 31T, 918l
Cgay n.g, 1. &g
D.&drel V. DT, g
FafRad § 4 Ug! faded &1 94 difod :

T.A-ILB-I,C-1V,D-I
2ZA-1LB-IV,C-1,D-1I
3A-IV,B-I,C-1I,D-1I
4 A-1L,B-II,LC-1I,D-1V
Options :

71087042365. 1
71087042366. 2
71087042367. 3
71087042368. 4

Question Number : 123 Question Id : 71087010623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

A. Sringverpur l. Katchh

B. Surkotada Il. Munger
C. Balathal l1l. Udaipur
D. Paisra IV. Prayagraj

Choose the correct answer from the options given below:

T.A-1,B-11,C-1I,D-1IV
2ZA-IV,B-1,C-1l,D-1I
3A-ILLB-IV,C-1I,D-1I
4 A-11,BE-I,C-IV,D-I
Options :

71087042369. 1
71087042370. 2
71087042371. 3
71087042372. 4

Question Number : 123 Question Id : 71087010623 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tt | D1 Gl 1| b 9y FaH sife

| Tl-Ii
A. HFTRYT . P
B. RbIcal I TR
C. Fard 1. 3EUYR
D. TIRT AGIEEIF R
oo o € 981 fdded &1 994 Sife

TA-LB-1,C-1L,D-1IV
2ZA-IV,B-1,C-1I,D-1
3A-ILB-IV,C-1I,D-1
4 A-ILB-N,C-IV,D-I
Options :

71087042369. 1
71087042370. 2
71087042371. 3
71087042372. 4

Question Number : 124 Question Id : 71087010624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



hMatch List | with List 11

List | List 11

(Books) (Author)

A. A Hundred and Fifty Years of Archaeology| |. B. Subbarao

B. Battle for Ancient India II. V. Gordon Childe
C. Personality of India ll. Glyn Daniel

D. Piecing Together The Past IV. D. K. Chakrabarti

Choose the correct answer from the options given below:

TA-1,B-1I,C-1lI,D-1IV
2A-ILLE-IV, C-1Il,D-1
A-IL,B-IV, C-1,D-1
4 A-IV,B-1,C-1l,D-1I
Options :

71087042373. 1
71087042374. 2
71087042375.3
71087042376. 4

Question Number : 124 Question Id : 71087010624 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tt | D1 Gl 1| b 9y FaH sife

gal-| -1l

ELSED RREET
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fafeied o O 981 faded &1 994 Bifeid ;

TA-LBE-UI,C-1,D-1V
2ZA-ILB-IV,C-1,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :

71087042373. 1
71087042374. 2
71087042375.3
71087042376. 4

Question Number : 125 Question Id : 71087010625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



hMatch List | with List 11

List | List 11

A. King and Queen type coins l. Samudragupta

B. Karttikeya type coins ll. Kumaragupta

C. Chakravikrama type coins lll. Chandragupta |
D. Standard Bearer type coins IV. Chandragupta Il

Choose the correct answer from the options given below

TA-IV,B-1,C-1lI,D-1
2ZA-11LBE-NI,C-1,D-1IV
3A-ILLB-NI,C-IV,D-I
4 A-11,BE-II,C-1,D-1IV
Options :

71087042377. 1
71087042378. 2
71087042379. 3
71087042380. 4

Question Number : 125 Question Id : 71087010625 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tt | G Gt 11 BT A Sifer -
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A. TSI AR I TBR & Fddh . I
B.®Iddbd UHR o [dd | PHRAT

C dehidshd PR & [Yad T - TYH
D. ©dIUR (Bearer) THR & gk V. =Tt - fedia
fciiad § ¥ el fadhed &1 9g- Dl ;

TA-IV,B-1,C-1I,D-1
ZA-ILB-IL,C-1,D-1IV
3A-ILB-ILC-1V,D-I
4 A-ILB-N,C-1,D-1IV
Options :

71087042377. 1
71087042378. 2
71087042379. 3
71087042380. 4

Question Number : 126 Question Id : 71087010626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange Australopithecus fossils and deposits in chronological order:
A. Laetoli

B. Swartkrans

C. Hadar

D. Sterkfontein

Choose the correct answer from the options given below:

1. A CBD
2CBAD
3.B.ADC
4. A, C DB
Options :
71087042381.
71087042382.
71087042383.
71087042384.

AW O~

Question Number : 126 Question Id : 71087010626 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HCAMYEHY SIdT=H 3R SHI B DIcHH & AR Hdd DY :
A. SSierel
B. Wcish~

C.8R
D. ThBI<

Fafafaa | © ggt fdecy &1 9ga &

1. A CBD
2CBAD
3.B.ADC
4. A, C DB
Options :
71087042381.
71087042382.
71087042383.
71087042384.

AW O~

Question Number : 127 Question Id : 71087010627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the locations of the Neolithic sites from North to South:
A. Hemmige

B. Piklihal

C. Hallur

D. Maski

Choose the correct answer from the options given below:

1.C,B,AD
2. A B D,C
3.B.D,C A
4.D,B A, C
Options :
71087042385.
71087042386.
71087042387.
71087042388.

AW O~

Question Number : 127 Question Id : 71087010627 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I1ch Bl o SUR FafiRad 99 TR TiH Tl & GIa0 9 SR & HH H o0dieyd oy
ATl
B.fUecilgra

C. B
D. OEHI

Fafafaa | © ggt fdecy &1 9ga &

1.C,B,AD
2. A B D,C
3.B.D,C A
4.D,B A, C
Options :
71087042385.
71087042386.
71087042387.
71087042388.

AW O~

Question Number : 128 Question Id : 71087010628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order:

A. Medhauli

B. Lahariadih

C. Jwalapuram 22

D. Melamaligaipattu

Choose the correct answer from the options given below:

1.C,D A B
2B AD,C
3AB,CD
4.D,C B A
Options :
71087042389. 1
71087042390. 2
71087042391. 3
71087042392. 4

Question Number : 128 Question Id : 71087010628 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HE! BleshH H ouafeyd BT :
AFE

B. TE-IUTSIB

C. SATdIgRA - 22

D. HAMHTERIUCE

FafeRad H € 98l f[dd ey &1 94 &Y

1.C,D A B
2B AD,C
3.A,B,CD
4.D,C B A
Options :
71087042389. 1
71087042390. 2
71087042391. 3
71087042392. 4

Question Number : 129 Question Id : 71087010629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange in correct chronological sequence:

A. Solutrean

B. Magdalenian

C. Aurignacian

D. Gravettian

Choose the correct answer from the options given below:

1. A BCD
2.D,CBA
3.CDAB
4.B,A D C
Options :
71087042393. 1
71087042394. 2
71087042395. 3
71087042396. 4

Question Number : 129 Question Id : 71087010629 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



D. JafeTH
afaiad 9 ¥ 95! f[dded &1 99 &9 ;

1. A BCD
2.D,CBA
3.CDAB
4.B,A D C
Options :
71087042393.
71087042394.
71087042395.
71087042396.

AW N =

Question Number : 130 Question Id : 71087010630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order:

A. Kayatha

B. Hakra

C. Chak-86

D. Senuar

Choose the correct answer from the options given below:

1.A CDB
2CABD
3B.CAD
4.D,B A, C
Options :
71087042397. 1
71087042398. 2
71087042399. 3
71087042400. 4

Question Number : 130 Question Id : 71087010630 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FrafcRad @1 98l droshH § oaaieyd St -
ABIIYI

B BTH

CAD - 86

D. TR

FafeRad H € 98l f[dd ey &1 94 &Y

1.A CDB
2CABD
3B.CAD
4.D,B A, C
Options :
71087042397. 1
71087042398. 2
71087042399. 3
71087042400. 4

Question Number : 131 Question Id : 71087010631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order:
A. Ropar

B. Dhalewan

C. Thaneshwar

D. Sugh

Choose the correct answer from the options given below:

1.A CDB
2.C DB A
3.B.ADC
4.D,B A, C
Options :
71087042401.
71087042402.
71087042403.
71087042404.

AW O~

Question Number : 131 Question Id : 71087010631 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HE! BleshH H ouafeyd BT :
A TS
B. et
C. =R

D. qd
afaiad 9 ¥ 95! Aoy &1 991 &9 ;

1.A CDB
2.C DB A
3.B.ADC
4.D,B A, C
Options :
71087042401.
71087042402.
71087042403.
71087042404.

AW N =

Question Number : 132 Question Id : 71087010632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order:

A. M. Wheeler

B. James Burgess

C. John Marshall

D. A. Cunningham

Choose the correct answer from the options given below:

1. A BCD
2D,BCA
3.CB DA
4.B,D, A C
Options :
71087042405.
71087042406.
71087042407.
71087042408.

AW O~

Question Number : 132 Question Id : 71087010632 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HE! BleshH H ouafeyd BT :

ATH, GITR

B. ORI

C. i ARl

D. T. Bi+uH

FafeRad H € 98l f[dd ey &1 94 &Y

1. A BCD
2D,BCA
3.CB DA
4.B,D, A C
Options :
71087042405.
71087042406.
71087042407.
71087042408.

AW N =

Question Number : 133 Question Id : 71087010633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order :

A. Ajanta chaitya hall no.19

B. Karla chaitya hall

C. Pitalkhara chaitya hall no.3

D. Ellora chaitya hall no.10

Choose the correct answer from the options given below:

1.C,B,AD

2 A B CD
3.D,A B C
4.C,D A B
Options :
71087042409. 1
71087042410. 2
71087042411. 3
71087042412. 4

Question Number : 133 Question Id : 71087010633 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad 5 ¥ I BIell @I BIciHH &b IR Haed ®X ;

A. 3fSdl 9 8T 9347 :19

B. DIel I Bl

C. YldaaRl Jcd BT 931 - 3

D. TR ol gIel &A1 2 10

afead 5 9 9l [dd ey &1 994 B -

1.C,B,AD

2 A B CD
3.D,A B C
4.C,D A B
Options :
71087042409. 1
71087042410. 2
71087042411. 3
71087042412. 4

Question Number : 134 Question Id : 71087010634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in chronological order:

A. Ashvamedha type of gold coins

B. Chakravikrama type of gold coins

C. Karttikeya type of gold coins

D. Buddha type of gold coins

Choose the correct answer from the options given below:

1.A CDB
2. A B D,C
3.D,A B C
4. B,D,C A
Options :
71087042413.
71087042414.
71087042415.
71087042416.

AW O~

Question Number : 134 Question Id : 71087010634 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ol BIcshH H HaRYd BIfo -

A. 31HHE UHR & 0l gal

3. TPIIH UPR B WO

C. By YbR DI T0l gl

D. §% UBHR @] ¥l Hal

afeiad # 9 Ug! [dd e &1 994 Bifod ;

1.A CDB
2. A B D,C
3.D,A B C
4. B,D,C A
Options :
71087042413.
71087042414.
71087042415.
71087042416.

AW N =

Question Number : 135 Question Id : 71087010635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Chronologically sequence the following Chalukyan temples:
A. Huchimalligudi

B. Virupaksha

C. Ladh Khan

D. Papnath

Choose the correct answer from the options given below:

1.C,B,D A

2 A B CD
3CADB
4B, C A D
Options :
71087042417. 1
71087042418. 2
71087042419. 3
71087042420. 4

Question Number : 135 Question Id : 71087010635 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiaa are ARl & SIowa & SFOR Hareyd oY :
A g

B. fawuney

C. ArSEH

D. YTq-Ty

afaiad 9 ¥ 95! f[dded &1 994 dited -

1.C,B,D A

2 A B CD
3CADB
4B, C A D
Options :
71087042417. 1
71087042418. 2
71087042419. 3
71087042420. 4

Question Number : 136 Question Id : 71087010636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement I: From Vindhya-Belan region, carpenter’s tools as adze, chisels along with celts
have been found.

Statement IlI: After achieving the main shapes, the surface of the above tools was grounded
for the purpose of acquiring durability.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but Statement 1l is false
Options :

71087042421. 1

71087042422. 2

71087042423.3

71087042424 4

Question Number : 136 Question Id : 71087010636 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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SWdd &1 & el H Hafiad fdd el 5 9 98 S g -

1. DY | 3R 1| GHI Fgl
2. @Y | 3R 1| Al Tad &
3. By 1 9 &, fooeg &Y 11 7104 B
4. DY | A &, foog YA 11 ol B

Options :

71087042421. 1
71087042422. 2
71087042423. 3
71087042424. 4

Question Number : 137 Question Id : 71087010637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Middle Palaeolithic populations occupied similar ecological zones as their
predecessors, with expansion into new areas such as Southern Tamilnadu.

Reason R: In the Hunsgi-Baichbal basin, in contrast to the preceding Acheulean, Middle
Palaeolithic sites are located on tablelands surrounding the valleys.

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but Ris NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087042425. 1

71087042426. 2

71087042427. 3

71087042428. 4

Question Number : 137 Question Id : 71087010637 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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DR (R) : T - dgaTd i H 31U+ qddd! s=gfera o [qudid Je R ®id gaidl &
IRI 3R cad oS § [T 5

SWdd dBYHT & et H Fgifdd fddeal d§ I wgl 3w g -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) 3R (R) GIFIT W&l & U (R), (A) BT Wel o Tl &

3. (A) 981 & T (R) T B

4. () Tad 8 fiog (R) TET B

Options :

71087042425. 1

71087042426. 2

71087042427. 3
71087042428. 4

Question Number : 138 Question Id : 71087010638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: The cultural deposit is normally not very thick during the Kushana period.

Statement lI: Large scale use of burnt bricks for house building activities during the Kushana
period is in tune with that

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement 1l is false
4, Statement | is incorrect but statement Il is true
Options :

71087042429. 1

71087042430. 2

71087042431.3

71087042432. 4

Question Number : 138 Question Id : 71087010638 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



EICKA SN A

©Y - | : DUV Bl B GRIH FRdpidd ofHTd GHEFI: ggd ied Hiel sl Ul

©YA - || : DUV DI &b GRMH g HAT Gath Tiafafeal 9 09 R Ul g3 sef § Jalda i)
Sudad HYHl & Aeile H Fgifed [ddedl H# 9 ¥8 ST g -

1. @Y | SR 1 G Fl 5

2. YA | SR Il GHI ITad g |

3. By 1 9 &, fooeg &Y 11 7104 B
4. DY | A &, foog YA 11 ol B

Options :

71087042429. 1
71087042430. 2
71087042431. 3
71087042432. 4

Question Number : 139 Question Id : 71087010639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: The Indus civilisation was primarily based on ‘rabi’ crop system for its food base.

Statement lI: Irrigation facilities were generally available to raise these crops successfully
during the period.

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087042433. 1

71087042434. 2

71087042435. 3

71087042436. 4

Question Number : 139 Question Id : 71087010639 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042433 1
71087042434. 2
71087042435. 3
71087042436. 4

Question Number : 140 Question Id : 71087010640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Ravikirti, the composer of Pulikesin II's Aihole Prasasti is compared to poets like
Kalidasa and Bharan

Reason R: The poetic works of Kalidasa and Bharan were known to people in south India
during the reign of Chalukya King Pulikesin II.

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087042437. 1

71087042438. 2

71087042439. 3

71087042440. 4

Question Number : 140 Question Id : 71087010640 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087042437. 1

71087042438. 2

71087042439. 3

71087042440, 4

Sub-Section Number : 2
Sub-Section Id : 710870297
Question Shuffling Allowed : Yes

Question Id : 71087010641 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the given passage and answer the questions that follow

Cattle may also have been introduced in South India, but it has been suggested that they may
have been indigenously domesticated in the region. While humped zebu cattle were certainly
domesticated in Baluchistan by c.6000 B.C., what remains unclear is whether additional
domestications of this species took place elsewhere in the subcontinent during
Holocene. Archaeozoological works have suggested the existence of domesticated cattle
remains from Mesolithic contexts in Bhimbetka and Adamgarh. Sheep and goat occur at
Neolithic sites throughout the Southern Deccan, despite the fact that they have no wild
ancestors in the area. These species, however, had a much loenger history in the North-Western
part of the subcontinent. They must have been introduced to the south by the mid-third
millennium B.C.

Sub questions

Question Number : 141 Question Id : 71087010642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Domestication of the humped zebu cattle is related to

1. Late Pleistocene

2. Early Pleistocene
3. Holocene

4, Middle Pleistocene
Options :
71087042441. 1
71087042442, 2
71087042443, 3
71087042444, 4

Question Number : 142 Question Id : 71087010643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

From which of the following cultures domestication of cattle started at Adamgarh?

1. Lower Palaeolithic Culture
2. Upper Palaeclithic Culture
3. Neolithic Culture

4, Mesolithic Culture
Options :

71087042445. 1

71087042446. 2

71087042447, 3

71087042448 4

Question Number : 143 Question Id : 71087010644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In south India, domestication of cattle started from which one of the following periods?

1. Palaeolithic Pericd
2. Mesolithic Period
3. Neolithic Period
4. Megalithic Period
Options :
71087042449. 1
71087042450. 2
71087042451. 3
71087042452. 4

Question Number : 144 Question Id : 71087010645 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following animals is common in Southern Deccan and North - Western
region?

1. Horse
2. Sheep
3. Camel
4, Zebu cattle
Options :
71087042453. 1
71087042454. 2
71087042455. 3
71087042456. 4

Question Number : 145 Question Id : 71087010646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which period, some species of animals of North-Western part were introduced in South
India?

1. 6000 B.C.

2. Third-Millenninum B.C.

3. Mid-Third-Millennium B.C.
4, Second-Millennium B.C.
Options :

71087042457. 1

71087042458. 2

71087042459. 3

71087042460. 4

Question Id : 71087010641 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



frrafafea e #1 i@ iR s A U F IWE

GI&UT HRA H i AafRRl & y=eE @1 §HIaA 361 5l UReg U8 gd 61 1 6 3% 59 & |
GS ¥4 Y Ulcid &1 T BT S8l das dicl oig Hagl @l 6000 3. U, TP Sciawd = & HHar
EY Y Ureiq &1 [ord1 717 YT, 981 9% SE¥ § [ a4 &1a & GRH SU-Helald | [bdl o ®IF
WR HI 37 werfad! &I uTerq &1 T4

R UIURIRG & &R+ 98 gl i HHea®1 aul HAGHTE § H9 UNU@Iiad 6y 4 Uaq,
HafE! &1 R [GeHF U1 39 9 & d1a9g 1o &8 377 By el gaol el 4, GHgUf GIaMm
SFP4 &7 § US Toal 79-UNUE & R R Uls T3 | SU-AEEY & Iw-UEH Hi J 34
Yellicidl @1 qUTil Sgd oeal Sideld o | Sd1 Ude Gl H 3avde ¥4 U Juid Heleal 3.0, &
A b ol 1 T

Sub questions

Question Number : 141 Question Id : 71087010642 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

DS dldl oig @I Uleiq & Hgfaiad I defid &

1. Uqdl Wi ®Id
2. URfH® Uifdd= @ra
3. I BT

4, 79 Yifd-Id= I
Options :
71087042441, 1
71087042442, 2
71087042443. 3
71087042444, 4



Question Number : 142 Question Id : 71087010643 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HIGHTG | FEiiRgd ST Tepid U HaiRE! @l Ureid aHH HRY g3l 7

1. 99 ROTETor ST
2. J=d UATUTHTOT doled
3. -1d UTHIUT Tl

4. H¥ YTHTUT ol
Options :
71087042445. 1
71087042446. 2
71087042447. 3
71087042448. 4

Question Number : 143 Question Id : 71087010644 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ST YRd H FgfiRad 19 U Sia U JafREl ol e §-H1 HRY a1 [ ?

1. YT YTHII ol
2. H UTHIOT bl
3. "d-UTHIU] dolcd
4. HgT YTyl dhlcd
Options :
71087042449. 1
71087042450. 2
71087042451. 3
71087042452. 4

Question Number : 144 Question Id : 71087010645 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Si&mf gad- aul S-uliydl g7 J FefaRad § g on-ar IR 3va-FE g 7

1. 9IS

2. 913

3.3¢

4. oiq Ha=h
Options :
71087042453. 1
71087042454, 2
71087042455.3
71087042456. 4

Question Number : 145 Question Id : 71087010646 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g af¥ ¥ IOR-uE YF & HRI &1 S Fariadl &I GlanT YRd o & 2

1. 6000 3.4,

2. i Ggsdlsal 3.4,

3. 49 gl Yol 3.,
4. fgdlg wgwI=dl 3.4,
Options :

71087042457. 1
71087042458. 2
71087042459. 3
71087042460. 4

Sub-Section Number : 3
Sub-Section Id : 710870298
Question Shuffling Allowed : Yes

Question Id : 71087010647 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (146 to 150)
Question Label : Comprehension

Read the given passage and answer the questions that follow

Bayana is an important place from where for the first time a large hoard of Gupta gold coins
was discovered which had been deciphered and interpreted by A. S. Altekar. Numismatics (the
science of coinage) has been utilized by J. N. Banerjee as a source for the study of
iconography. He made a pioneering study entitled "Development of Hindu Iconography”. The
solitary coin entitled "Chakravikrama type" is an example in case.

Sub questions

Question Number : 146 Question Id : 71087010648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Where is Bayana?

1. Punjab

2. Gujarat

3. Rajasthan
4. U.P.
Options :
71087042461. 1
71087042462. 2
71087042463. 3
71087042464. 4

Question Number : 147 Question Id : 71087010649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who was the issuer of 'Chakravikrama type’ gold coins?

1. Samudragupta
2. Chandragupta Il
3. Kumaragupta |
4. Skandagupta
Options :
71087042465. 1
71087042466. 2
71087042467. 3
71087042468. 4

Question Number : 148 Question Id : 71087010650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who is giving three circular objects to the king?

1. Shiva

2. Brahma

3. Chakrapurusa
4. Karttikeya
Options :
71087042469. 1
71087042470. 2
71087042471. 3
71087042472. 4

Question Number : 149 Question Id : 71087010651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following was an art-historian?

1. R.C. Majumdar

2. J. N. Banerjee

3. D. C. Sircar

4. K. A. Nilkanthashastri
Options :

71087042473. 1
71087042474, 2
71087042475. 3
71087042476. 4

Question Number : 150 Question Id : 71087010652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following is a renowned numismatist?

1. V.5. Agrawala
2. A S, Altekar

3. V. V. Mirashi

4. R. C. Majumdar
Options :
71087042477. 1
71087042478. 2
71087042479. 3
71087042480. 4

Question Id : 71087010647 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension



TR=3T :

SO U Jed QU RJ[ & Sl 4 Ugdl 9R 981 Y& H [alci- 9 & bas! 31 [ e 83
i) @ UgdH 3R AR UL, 3eeh - DI Ul | 1= (qerHl BT faiH) &1 WaieT o oL,
§oll gRI Ufadl fO9H & 9994 & 9id & €9 4 &9 7 g1 3% "Saaude 3 Bl
HISHAITBT" AHE 94 UeBid & [Bdl| dhidhd UHR" &I UHHH ds! 3UH] Ud JGeRU
TRdd Bl &

Sub questions

Question Number : 146 Question Id : 71087010648 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
9UHT ol WG g2

1. GaTd

2. TeId

3. eI

4. 3R We¥ (g.ul)
Options :
71087042461. 1
71087042462. 2
71087042463. 3
71087042464. 4

Question Number : 147 Question Id : 71087010649 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I dHd UPR & G4 & Hgw g ol g U ?

1. S
2. dei[d fedig
3. PHRIW TuH
4. T
Options :
71087042465. 1
71087042466. 2
71087042467. 3
71087042468. 4

Question Number : 148 Question Id : 71087010650 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
IS Bl BIF dH IgeBR 36 UaH B IE 8 ?

1. fag
2. &l

3. dh e

4. By
Options :
71087042469. 1
71087042470. 2
71087042471. 3
71087042472. 4

Question Number : 149 Question Id : 71087010651 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FafaRad 5 9 o1 da-3fdeaeR O7 ?

1. HREL A9HGR
2. oL, §ail

3. 314 WPR
4, @, U, B USIL

Options :

71087042473. 1
71087042474. 2
71087042475. 3
71087042476. 4

Question Number : 150 Question Id : 71087010652 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafeiad 3 9 ©H fowe=ard el § ?

1. 91UY. A
2. TUH. Aeedh
3. dtdl e

4, ¥R A99aR
Options :
71087042477. 1
71087042478. 2
71087042479. 3
71087042480. 4



